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�D>7D4<<4 ?>47>F>6>< E?5F<4?<EF>6 ED54=57> 765=4 ?> E?5F<4?L=>EF< 09.02.07 

�=D>D<4F<>==O5 E<EF5<O < ?D>7D4<<<D>64=<5 D47D45>F4=4 6 E>>F65FEF6<< E $545D4?L=O< 

7>EG44DEF65==O< >5D47>64F5?L=O< EF4=44DF>< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O, 

GF65D645==O< ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 

9 45>45DO 2016 7. 7 1547, 74D57<EFD<D>64==O< �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= 

$545D4F<< 26 45>45DO 2016 7. 7 44936 (6 D544>F<< ?D<>474 �<=<EF5DEF64 �D>E65M5=<O 

$>EE<=E>>= $545D4F<< >F 17 45>45DO 2020 7. 7 747 «� 6=5E5=<< <7<5=5=<= 6 D545D4?L=O5 

7>EG44DEF65==O5 >5D47>64F5?L=O5 EF4=44DFO ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O», 

74D57<EFD<D>64==>7> �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 22 O=64DO 2021 7. 

7 62178), < E GG5F>< FD55>64=<= D57<>=4?L=>7> DO=>4 FDG44. 
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$����� 1 ��-�� ��������/ 
 

1.1 �4EF>OM4O ?D>7D4<<4 ?>47>F>6>< E?5F<4?<EF>6 ED54=57> 765=4 (44?55 - 

>5D47>64F5?L=4O ?D>7D4<<4) D47D45>F4=4: 

- =4 >E=>65 D545D4?L=>7> 7>EG44DEF65==>7> >5D47>64F5?L=>7> EF4=44DF4 ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O ?> E?5F<4?L=>EF< 09.02.07 �=D>D<4F<>==O5 E<EF5<O < 

?D>7D4<<<D>64=<5, GF65D645==>7> ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= 

$545D4F<< >F 9 45>45DO 2016 7. 7 1547, 74D57<EFD<D>64==>7> �<=<EF5DEF6>< NEF<F<< 

$>EE<=E>>= $545D4F<< 26 45>45DO 2016 7., D57<EFD4F<>==O= 7 44936 (44?55 - $��% %��); 

- E GG5F>< ?D<<5D=>= >E=>6=>= >5D47>64F5?L=>= ?D>7D4<<O ?> E?5F<4?L=>EF< 09.02.07 

�=D>D<4F<>==O5 E<EF5<O < ?D>7D4<<<D>64=<5, 74D57<EFD<D>64==>= 6 7>EG44DEF65==>< 

D55EFD5 ?D<<5D=OE >E=>6=OE >5D47>64F5?L=OE ?D>7D4<< >F 02.02.2022 7 6 (�D<>47 $���' 

��� �$�� 7 �-24 >F 02.02.2022) (44?55 - ����). 

�5D47>64F5?L=4O ?D>7D4<<4 >?D545?O5F D5>><5=4>64==O= >5N5< < E>45D64=<5 

ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O ?> E?5F<4?L=>EF< 09.02.07 �=D>D<4F<>==O5 

E<EF5<O < ?D>7D4<<<D>64=<5, ??4=<DG5<O5 D57G?LF4FO >E6>5=<O >5D47>64F5?L=>= 

?D>7D4<<O, ?D<<5D=O5 GE?>6<O >5D47>64F5?L=>= 45OF5?L=>EF<. 

�5D47>64F5?L=4O ?D>7D4<<4 D47D45>F4=4 4?O D54?<74F<< =4 5475 ED54=57> >5M57> 

>5D47>64=<O. 

 

1.2 �>D<4F<6=O5 >E=>64=<O 4?O D47D45>F>< >5D47>64F5?L=>= ?D>7D4<<O: 

- $545D4?L=O= 74>>= $>EE<=E>>= $545D4F<< >F 29 45>45DO 2012 7. 7 273-$� 

«�5 >5D47>64=<< 6 $>EE<=E>>= $545D4F<<»; 

- �D<>47 �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 14 <N=O 2013 7. 

7 464 «�5 GF65D645=<< �>DO4>4 >D74=<74F<< < >EGM5EF6?5=<O >5D47>64F5?L=>= 

45OF5?L=>EF< ?> >5D47>64F5?L=O< ?D>7D4<<4< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O» 

(74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 30 <N?O 2013 7., 

D57<EFD4F<>==O= 7 29200); 

- �D<>47 �<=<EF5DEF64 ?D>E65M5=<O $>EE<=E>>= $545D4F<< >F 2 E5=FO5DO 2020 7. 

7 457 «�5 GF65D645=<< �>DO4>4 ?D<5<4 =4 >5GG5=<5 ?> >5D47>64F5?L=O< ?D>7D4<<4< 

ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O» (74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< 

$>EE<=E>>= $545D4F<< 6 =>O5DO 2020 7., D57<EFD4F<>==O= 7 60770); 

- �D<>47 �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 9 45>45DO 

2016 7. 7 1547 «�5 GF65D645=<< D545D4?L=>7> 7>EG44DEF65==>7> >5D47>64F5?L=>7> 

EF4=44DF4 ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O ?> E?5F<4?L=>EF< 09.02.07 

�=D>D<4F<>==O5 E<EF5<O < ?D>7D4<<<D>64=<5» (74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< 

$>EE<=E>>= $545D4F<< 26 45>45DO 2016 7., D57<EFD4F<>==O= 7 44936); 

- �D<>47 �<=<EF5DEF64 =4G>< < 6OEL57> >5D47>64=<O $>EE<=E>>= $545D4F<<, 

�<=<EF5DEF64 ?D>E65M5=<O $>EE<=E>>= $545D4F<< >F 5 467GEF4 2020 7. 7 885/390 

«� ?D4>F<G5E>>= ?>47>F>6>5 >5GG4NM<EEO» (74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< 

$>EE<=E>>= $545D4F<< 11 E5=FO5DO 2020 7., D57<EFD4F<>==O= 7 59778); 

- �D<>47 �<=<EF5DEF64 ?D>E65M5=<O $>EE<=E>>= $545D4F<< >F 8 =>O5DO 2021 7. 7 800 

«�5 GF65D645=<< �>DO4>4 ?D>6545=<O 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< ?> 

>5D47>64F5?L=O< ?D>7D4<<4< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O» (74D57<EFD<D>64= 

�<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 7 45>45DO 2021 7., D57<EFD4F<>==O= 

7 66211); 

- �D<>47 �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 

18 =>O5DO 2013 7. 7 679= «�5 GF65D645=<< ?D>D5EE<>=4?L=>7> EF4=44DF4 «�D>7D4<<<EF»» 

(74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 18 45>45DO 2013 7., 

D57<EFD4F<>==O= 7 30635); 
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- �D<>47 �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 

17 E5=FO5DO 2014 7. 7 225= «�5 GF65D645=<< ?D>D5EE<>=4?L=>7> EF4=44DF4 «%?5F<4?<EF ?> 

F5EF<D>64=<N 6 >5?4EF< <=D>D<4F<>==OE F5E=>?>7<=»» (74D57<EFD<D>64= �<=<EF5DEF6>< 

NEF<F<< $>EE<=E>>= $545D4F<< 9 <N=O 2014 7., D57<EFD4F<>==O= 7 32623); 

- �D<>47 �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 

11 4?D5?O 2014 7. 7 647= «�5 GF65D645=<< ?D>D5EE<>=4?L=>7> EF4=44DF4 «�4<<=<EFD4F>D 

547 44==OE»» (74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 24 =>O5DO 

2014 7., D57<EFD4F<>==O= 7 34846); 

- �D<>47 �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 

8 E5=FO5DO 2014 7. 7 629= «�5 GF65D645=<< ?D>D5EE<>=4?L=>7> EF4=44DF4 «%?5F<4?<EF ?> 

<=D>D<4F<>==O< D5EGDE4<»» (74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= 

$545D4F<< 26 E5=FO5DO 2014 7., D57<EFD4F<>==O= 7 34136); 

- �D<>47 �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 

18 =>O5DO 2014 7. 7 896= «�5 GF65D645=<< ?D>D5EE<>=4?L=>7> EF4=44DF4 «%?5F<4?<EF ?> 

<=D>D<4F<>==O< E<EF5<4<»» (74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= 

$545D4F<< 24 45>45DO 2014 7., D57<EFD4F<>==O= 7 35361); 

- �D<>47 �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 

8 E5=FO5DO 2014 7. 7 612= «�5 GF65D645=<< ?D>D5EE<>=4?L=>7> EF4=44DF4 «&5E=<G5E><= 

?<E4F5?L»» (74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 3 >>FO5DO 

2014 7., D57<EFD4F<>==O= 7 34234); 

- ?D<>47 �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 18 O=64DO 

2017 7. 7 44= «�5 GF65D645=<< ?D>D5EE<>=4?L=>7> EF4=44DF4 «$47D45>FG<> web < 

<G?LF<<54<==OE ?D<?>65=<=»» (74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= 

$545D4F<< 31 O=64DO 2017 7., D57<EFD4F<>==O= 7 45481); 

- =>D<4F<6=>-<5F>4<G5E><5 4>>G<5=FO �<=<EF5DEF64 ?D>E65M5=<O $>EE<=E>>= 

$545D4F<<; 

- 'EF46 $545D4?L=>7> 7>EG44DEF65==>7> 5N465F=>7> >5D47>64F5?L=>7> GGD5645=<O 

6OEL57> >5D47>64=<O «%<5<DE><= 7>EG44DEF65==O= G=<65DE<F5F F5?5>><<G=<>4F<= < 

<=D>D<4F<><» (%<5�'&�); 

- �>?>65=<5 'D4?LE>>7> F5E=<G5E>>7> <=EF<FGF4 E6O7< < <=D>D<4F<>< (D<?<4?4) 

$545D4?L=>7> 7>EG44DEF65==>7> 5N465F=>7> >5D47>64F5?L=>7> GGD5645=<O 6OEL57> 

>5D47>64=<O «%<5<DE><= 7>EG44DEF65==O= G=<65DE<F5F F5?5>><<G=<>4F<= < <=D>D<4F<><» 

6 7. �>4F5D<=5GD75 ('D&�%� %<5�'&�); 

- ?>>4?L=O5 =>D<4F<6=O5 4>FO 'D&�%� %<5�'&�. 

 

1.3 � >5D47>64F5?L=>= ?D>7D4<<5 <E?>?L7GNFEO E?54GNM<5 E>>D4M5=<O: 

- %�� - ED54=55 ?D>D5EE<>=4?L=>5 >5D47>64=<5; 

- $��% %�� - $545D4?L=O= 7>EG44DEF65==O= >5D47>64F5?L=O= EF4=44DF ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O; 

- ���� - ?D<<5D=4O >E=>6=4O >5D47>64F5?L=4O ?D>7D4<<4; 

- ��%%� - ?D>7D4<<4 ?>47>F>6>< E?5F<4?<EF>6 ED54=57> 765=4; 

- �� - >E=>6=>= 6<4 45OF5?L=>EF<; 

- �� - >5M4O >><?5F5=F<O; 

- �� - ?D>D5EE<>=4?L=4O >><?5F5=F<O; 

- �$ - ?<G=>EF=O5 D57G?LF4FO; 

- �� - ?D>D5EE<>=4?L=O= <>4G?L; 

- ��� - <564<EF<??<=4D=O= >GDE; 

- ��� - 7>EG44DEF65==4O <F>7>64O 4FF5EF4F<O. 
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$����� 2 ��-�/ %�$��&�$�%&��� 
��$�����&��,��� �$��$���/ 

 

�64?<D<>4F<O, ?D<E64<645<4O 6O?GE>=<>4< >5D47>64F5?L=>= ?D>7D4<<O: 

?D>7D4<<<EF. 

$>D<O >5GG5=<O: >G=4O. 

%D>> ?>?GG5=<O >5D47>64=<O ?> >5D47>64F5?L=>= ?D>7D4<<5 6 >G=>= D>D<5 >5GG5=<O 

6=5 746<E<<>EF< >F ?D<<5=O5<OE >5D47>64F5?L=OE F5E=>?>7<=, D54?<7G5<>= =4 5475 

ED54=57> >5M57> >5D47>64=<O, E>EF46?O5F 2 7>44 10 <5EOF56 (147 =545?L), 6 F>< G<E?5: 

 
�5GG5=<5 ?> GG55=O< F<>?4< 82 =54. 

'G55=4O ?D4>F<>4 12 =54. 

�D><76>4EF65==4O ?D4>F<>4 14 =54. 

�D544<??><=4O ?D4>F<>4 4 =54. 

�D><56GF>G=4O 4FF5EF4F<O 6 =54. 

�>EG44DEF65==4O <F>7>64O 4FF5EF4F<O 6 =54. 

�4=<>G?O 23 =54. 

�F>7> 147 =54. 

 

�5M<= >5N5< >5D47>64F5?L=>= ?D>7D4<<O, D54?<7G5<>= =4 5475 ED54=57> >5M57> 

>5D47>64=<O, E>EF46?O5F 4464 4>445<<G5E><E G4E4 74 65EL ?5D<>4 >5GG5=<O. 

�4>E<<4?L=O= >5N5< GG55=>= =47DG7>< >5GG4NM<EEO E>EF46?O5F 36 G4E>6 6 =545?N, 

6>?NG4O 6E5 6<4O 4G4<F>D=>=, E4<>EF>OF5?L=>= D45>FO, ?D4>F<><, 4 F4>65 6D5<O, 

>F6545==>5 =4 >>=FD>?L >4G5EF64 >E6>5=<O >5GG4NM<<<EO >5D47>64F5?L=>= ?D>7D4<<O. 

 

$����� 3 %�$��&�$�%&��� �$�$�%%�����,��� 
��/&��,��%&� �/�'%����� 

 

3.1 �5?4EFL ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, 6 >>F>D>= 6O?GE>=<><, >E6><6L<5 

>5D47>64F5?L=GN ?D>7D4<<G, <>7GF >EGM5EF6?OFL ?D>D5EE<>=4?L=GN 45OF5?L=>EFL: 06 

%6O7L, <=D>D<4F<>==O5 < >><<G=<>4F<>==O5 F5E=>?>7<< (�D<>47 �<=<EF5DEF64 FDG44 < 

E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 29 E5=FO5DO 2014 7. 7 667= «� D55EFD5 

?D>D5EE<>=4?L=OE EF4=44DF>6 (?5D5G=5 6<4>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<)» 

(74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 19 =>O5DO 2014 7., 

D57<EFD4F<>==O= 7 34779)). 

 

3.2 �O?GE>=<><, >E6><6L<5 >5D47>64F5?L=GN ?D>7D4<<G, 4>?6=O 5OFL 7>F>6O > 

6O?>?=5=<N >E=>6=OE 6<4>6 45OF5?L=>EF<, ?D54GE<>FD5==OE $��% %��, E>7?4E=> 

6O5D4==>= >64?<D<>4F<< E?5F<4?<EF4 ED54=57> 765=4 - ?D>7D4<<<EF. 

%>>F65FEF6<5 >E=>6=OE 6<4>6 45OF5?L=>EF< < ?D>D5EE<>=4?L=OE <>4G?5= 

?D<E64<645<O< >64?<D<>4F<O<: 

 
�4<<5=>64=<5 

>E=>6=OE 6<4>6 45OF5?L=>EF< 

�4<<5=>64=<5 

?D>D5EE<>=4?L=OE <>4G?5= 

�64?<D<>4F<O 

- ?D>7D4<<<EF 

��.01 $47D45>F>4 <>4G?5= ?D>7D4<<=>7> 

>55E?5G5=<O 4?O >><?LNF5D=OE E<EF5< 

��.01 $47D45>F>4 <>4G?5= ?D>7D4<<=>7> 

>55E?5G5=<O 4?O >><?LNF5D=OE E<EF5< 

�E64<645FEO 

��.02 �EGM5EF6?5=<5 <=F57D4F<< 

?D>7D4<<=OE <>4G?5= 

��.02 �EGM5EF6?5=<5 <=F57D4F<< 

?D>7D4<<=OE <>4G?5= 

�E64<645FEO 

��.04 %>?D>6>645=<5 < >5E?G6<64=<5 

?D>7D4<<=>7> >55E?5G5=<O 

>><?LNF5D=OE E<EF5< 

��.04 %>?D>6>645=<5 < >5E?G6<64=<5 

?D>7D4<<=>7> >55E?5G5=<O >><?LNF5D=OE 

E<EF5< 

�E64<645FEO 
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��.11 $47D45>F>4, 44<<=<EFD<D>64=<5 < 

74M<F4 547 44==OE 

��.11 $47D45>F>4, 44<<=<EFD<D>64=<5 < 

74M<F4 547 44==OE 

�E64<645FEO 

 

$����� 4 �����$'��/� $��'�,&�&/ �%�����/ 
��$�����&��,��� �$��$���/ 

 

�5D47>64F5?L=4O ?D>7D4<<4 <<55F E6>5= F5?LN <5F>4<G5E>>5 >55E?5G5=<5 

>><??5>E=>= < >4G5EF65==>= ?>47>F>6>< >>=>GD5=F>E?>E>5=>7> 6O?GE>=<>4 =4 >E=>65 

D>D<<D>64=<O < D476<F<O >5M<E < ?D>D5EE<>=4?L=OE >><?5F5=F<= 6 E>>F65FEF6<< E 

FD55>64=<O<< $��% %��. 

� D57G?LF4F5 >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O G 6O?GE>=<>4 4>?6=O 5OFL 

ED>D<<D>64=O >5M<5 < ?D>D5EE<>=4?L=O5 >><?5F5=F<<, F.5. E?>E>5=>EFL ?D<<5=OFL 7=4=<O, 

G<5=<O < ?<G=O5 >4G5EF64 6 E>>F65FEF6<< E 7444G4<< ?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 

 

4.1 �5M<5 >><?5F5=F<<. 
�O?GE>=<>, >E6><6L<= >5D47>64F5?L=GN ?D>7D4<<G, 4>?65= >5?444FL E?54GNM<<< 

>5M<<< >><?5F5=F<O<< (44?55 - ��): 

 
�>4 

>><?. 

$>D<G?<D>6>4 

>><?5F5=F<< 
�=4=<O, G<5=<O 

�� 01 �O5<D4FL E?>E>5O 

D5L5=<O 7444G 

?D>D5EE<>=4?L=>= 

45OF5?L=>EF<, 

?D<<5=<F5?L=> > 

D47?<G=O< >>=F5>EF4<. 

'<5=<O: 
- D4E?>7=464FL 7444GG </<?< ?D>5?5<G 6 ?D>D5EE<>=4?L=>< </<?< 

E>F<4?L=>< >>=F5>EF5; 

- 4=4?<7<D>64FL 7444GG </<?< ?D>5?5<G < 6O45?OFL 5U E>EF46=O5 

G4EF<; 

- >?D545?OFL MF4?O D5L5=<O 7444G<; 

- 6OO6?OFL < MDD5>F<6=> <E>4FL <=D>D<4F<N, =5>5E>4<<GN 4?O 

D5L5=<O 7444G< </<?< ?D>5?5<O; 

- E>EF46<FL ??4= 45=EF6<O; 

- >?D545?<FL =5>5E>4<<O5 D5EGDEO; 

- 6?445FL 4>FG4?L=O<< <5F>44<< D45>FO 6 ?D>D5EE<>=4?L=>= < 

E<56=OE ED5D4E; 

- D54?<7>64FL E>EF46?5==O= ??4=; 

- >F5=<64FL D57G?LF4F < ?>E?54EF6<O E6><E 45=EF6<= 

(E4<>EF>OF5?L=> <?< E ?><>MLN =4EF46=<>4). 
�=4=<O: 
- 4>FG4?L=O= ?D>D5EE<>=4?L=O= < E>F<4?L=O= >>=F5>EF, 6 >>F>D>< 

?D<E>4<FEO D45>F4FL < 6<FL; 

- >E=>6=O5 <EF>G=<>< <=D>D<4F<< < D5EGDEO 4?O D5L5=<O 7444G < 

?D>5?5< 6 ?D>D5EE<>=4?L=>< </<?< E>F<4?L=>< >>=F5>EF5; 

- 4?7>D<F<O 6O?>?=5=<O D45>F 6 ?D>D5EE<>=4?L=>= < E<56=OE 

>5?4EFOE; 

- <5F>4O D45>FO 6 ?D>D5EE<>=4?L=>= < E<56=OE ED5D4E; 

- EFDG>FGDG ??4=4 4?O D5L5=<O 7444G; 

- ?>DO4>> >F5=>< D57G?LF4F>6 D5L5=<O 7444G ?D>D5EE<>=4?L=>= 

45OF5?L=>EF<. 
�� 02 �EGM5EF6?OFL ?><E>, 

4=4?<7 < <=F5D?D5F4-

F<N <=D>D<4F<<, 

=5>5E>4<<>= 4?O 

6O?>?=5=<O 7444G 

?D>D5EE<>=4?L=>= 

45OF5?L=>EF<. 

'<5=<O: 
- >?D545?OFL 7444G< 4?O ?><E>4 <=D>D<4F<<; 

- >?D545?OFL =5>5E>4<<O5 <EF>G=<>< <=D>D<4F<<; 

- ??4=<D>64FL ?D>F5EE ?><E>4; 

- EFDG>FGD<D>64FL ?>?GG45<GN <=D>D<4F<N; 

- 6O45?OFL =4<5>?55 7=4G<<>5 6 ?5D5G=5 <=D>D<4F<<; 

- >F5=<64FL ?D4>F<G5E>GN 7=4G<<>EFL D57G?LF4F>6 ?><E>4; 

- >D>D<?OFL D57G?LF4FO ?><E>4. 
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  �=4=<O: 
- =><5=>?4FGD4 <=D>D<4F<>==OE <EF>G=<>>6, ?D<<5=O5<OE 6 

?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

- ?D<5<O EFDG>FGD<D>64=<O <=D>D<4F<<; 

- D>D<4F >D>D<?5=<O D57G?LF4F>6 ?><E>4 <=D>D<4F<<. 
�� 03 �?4=<D>64FL < D54?<7>-

6O64FL E>5EF65==>5 

?D>D5EE<>=4?L=>5 < 

?<G=>EF=>5 D476<F<5. 

'<5=<O: 
- >?D545?OFL 4>FG4?L=>EFL =>D<4F<6=>-?D46>6>= 4>>G<5=F4F<< 6 

?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

- ?D<<5=OFL E>6D5<5==GN =4GG=GN ?D>D5EE<>=4?L=GN 

F5D<<=>?>7<N; 

- >?D545?OFL < 6OEFD4<64FL FD45>F>D<< ?D>D5EE<>=4?L=>7> D476<F<O 

< E4<>>5D47>64=<O. 

�=4=<O: 
- E>45D64=<5 4>FG4?L=>= =>D<4F<6=>-?D46>6>= 4>>G<5=F4F<<; 

- E>6D5<5==4O =4GG=4O < ?D>D5EE<>=4?L=4O F5D<<=>?>7<O; 

- 6>7<>6=O5 FD45>F>D<< ?D>D5EE<>=4?L=>7> D476<F<O < 

E4<>>5D47>64=<O. 

�� 04 $45>F4FL 6 >>??5>F<65 < 

>><4=45, MDD5>F<6=> 

674<<>45=EF6>64FL E 

>>??574<<, 

DG>>6>4EF6><, 

>?<5=F4<<. 

'<5=<O: 
- >D74=<7>6O64FL D45>FG >>??5>F<64 < >><4=4O; 

- 674<<>45=EF6>64FL E >>??574<<, DG>>6>4EF6><, >?<5=F4<< 6 E>45 

?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 
�=4=<O: 
- ?E<E>?>7<G5E><5 >E=>6O 45OF5?L=>EF< >>??5>F<64, 

?E<E>?>7<G5E><5 >E>55==>EF< ?<G=>EF<; 

- >E=>6O ?D>5>F=>= 45OF5?L=>EF<. 
�� 05 �EGM5EF6?OFL GEF=GN < 

?<EL<5==GN 

>><<G=<>4F<N =4 

7>EG44DEF65==>< O7O>5 

E GG5F>< >E>55==>EF5= 

E>F<4?L=>7> < 

>G?LFGD=>7> >>=F5>EF4. 

'<5=<O: 
- 7D4<>F=> <7?474FL E6>< <OE?< < >D>D<?OFL 4>>G<5=FO ?> 

?D>D5EE<>=4?L=>= F5<4F<>5 =4 7>EG44DEF65==>< O7O>5, ?D>O6?OFL 

F>?5D4=F=>EFL 6 D45>G5< >>??5>F<65. 
�=4=<O: 
- >E>55==>EF< E>F<4?L=>7> < >G?LFGD=>7> >>=F5>EF4; 

- ?D46<?4 >D>D<?5=<O 4>>G<5=F>6 < ?>EFD>5=<O GEF=OE E>>5M5=<=. 

�� 06 �D>O6?OFL 7D4644=E>>-

?4FD<>F<G5E>GN ?>7<-

F<N, 45<>=EFD<D>64FL 

>E>7=4==>5 ?>6545=<5 

=4 >E=>65 FD44<F<>=-

=OE >5M5G5?>65G5E><E 

F5==>EF5=, ?D<<5=OFL 

EF4=44DFO 4=F<>>DDG?-

F<>==>7> ?>6545=<O. 

'<5=<O: 
- >?<EO64FL 7=4G<<>EFL E6>5= E?5F<4?L=>EF<; 

- ?D<<5=OFL EF4=44DFO 4=F<>>DDG?F<>==>7> ?>6545=<O. 

�=4=<O: 
- EGM=>EFL 7D4644=E>>-?4FD<>F<G5E>>= ?>7<F<<, >5M5G5?>65G5E><E 

F5==>EF5=; 

- 7=4G<<>EFL ?D>D5EE<>=4?L=>= 45OF5?L=>EF< ?> E?5F<4?L=>EF<; 

- EF4=44DFO 4=F<>>DDG?F<>==>7> ?>6545=<O < ?>E?54EF6<O 57> 

=4DGL5=<O. 

�� 07 %>45=EF6>64FL 

E>ED4=5=<N 

>>DG64NM5= ED54O, 

D5EGDE>E55D565=<N, 

MDD5>F<6=> 45=EF6>-

64FL 6 GD576OG4==OE 

E<FG4F<OE. 

'<5=<O: 
- E>5?N44FL =>D<O M>>?>7<G5E>>= 557>?4E=>EF<; 

- >?D545?OFL =4?D46?5=<O D5EGDE>E55D565=<O 6 D4<>4E 

?D>D5EE<>=4?L=>= 45OF5?L=>EF< ?> E?5F<4?L=>EF<. 

�=4=<O: 
- ?D46<?4 M>>?>7<G5E>>= 557>?4E=>EF< ?D< 6545=<< 

?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

- >E=>6=O5 D5EGDEO, 7445=EF6>64==O5 6 ?D>D5EE<>=4?L=>= 

45OF5?L=>EF<; 

- ?GF< >55E?5G5=<O D5EGDE>E55D565=<O. 
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�� 08 �E?>?L7>64FL ED54EF64 

D<7<G5E>>= >G?LFGDO 

4?O E>ED4=5=<O < 

G>D5??5=<O 74>D>6LO 6 

?D>F5EE5 ?D>D5EE<>-

=4?L=>= 45OF5?L=>EF< < 

?>445D64=<O 

=5>5E>4<<>7> GD>6=O 

D<7<G5E>>= ?>47>F>6-

?5==>EF<. 

'<5=<O: 
- <E?>?L7>64FL D<7>G?LFGD=>->74>D>6<F5?L=GN 45OF5?L=>EFL 4?O 

G>D5??5=<O 74>D>6LO, 4>EF<65=<O 6<7=5==OE < ?D>D5EE<>=4?L=OE 

F5?5=; 

- ?D<<5=OFL D4F<>=4?L=O5 ?D<5<O 46<74F5?L=OE DG=>F<= 6 

?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

- ?>?L7>64FLEO ED54EF64<< ?D>D<?4>F<>< ?5D5=4?DO65=<O 

E4D4>F5D=O<< 4?O 44==>= E?5F<4?L=>EF<. 
�=4=<O: 
- D>?L D<7<G5E>>= >G?LFGDO 6 >5M5>G?LFGD=><, ?D>D5EE<>=4?L=>< 

< E>F<4?L=>< D476<F<< G5?>65>4; 

- >E=>6O 74>D>6>7> >5D474 6<7=<; 

- GE?>6<O ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < 7>=O D<E>4 D<7<G5E>>7> 

74>D>6LO 4?O E?5F<4?L=>EF<; 

- ED54EF64 ?D>D<?4>F<>< ?5D5=4?DO65=<O. 
�� 09 �E?>?L7>64FL <=D>D<4-

F<>==O5 F5E=>?>7<< 6 

?D>D5EE<>=4?L=>= 

45OF5?L=>EF<. 

'<5=<O: 
- ?D<<5=OFL ED54EF64 <=D>D<4F<>==OE F5E=>?>7<= 4?O D5L5=<O 

?D>D5EE<>=4?L=OE 7444G; 

- <E?>?L7>64FL E>6D5<5==>5 ?D>7D4<<=>5 >55E?5G5=<5. 

�=4=<O: 
- E>6D5<5==O5 ED54EF64 < GEFD>=EF64 <=D>D<4F<74F<<; 

- ?>DO4>> <E ?D<<5=5=<O < ?D>7D4<<=>5 >55E?5G5=<5 6 

?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 

�� 10 �>?L7>64FLEO 

?D>D5EE<>=4?L=>= 

4>>G<5=F4F<5= =4 

7>EG44DEF65==>< < 

<=>EFD4==>< O7O>4E. 

'<5=<O: 
- ?>=<<4FL >5M<= E<OE? G5F>> ?D><7=5E5==OE 6OE>47O64=<= =4 

<765EF=O5 F5<O (?D>D5EE<>=4?L=O5 < 5OF>6O5), ?>=<<4FL F5>EFO 

=4 547>6O5 ?D>D5EE<>=4?L=O5 F5<O; 

- GG4EF6>64FL 6 4<4?>74E =4 7=4>><O5 >5M<5 < ?D>D5EE<>=4?L=O5 

F5<O; 

- EFD><FL ?D>EFO5 6OE>47O64=<O > E555 < > E6>5= ?D>D5EE<>=4?L=>= 

45OF5?L=>EF<; 

- >D4F>> >5>E=>6O64FL < >5NOE=<FL E6>< 45=EF6<O (F5>GM<5 < 

??4=<DG5<O5); 

- ?<E4FL ?D>EFO5 E6O7=O5 E>>5M5=<O =4 7=4>><O5 <?< 

<=F5D5EGNM<5 ?D>D5EE<>=4?L=O5 F5<O. 

�=4=<O: 
- ?D46<?4 ?>EFD>5=<O ?D>EFOE < E?>6=OE ?D54?>65=<= =4 

?D>D5EE<>=4?L=O5 F5<O; 

- >E=>6=O5 >5M5G?>FD55<F5?L=O5 7?47>?O (5OF>64O < 

?D>D5EE<>=4?L=4O ?5>E<>4); 

- ?5>E<G5E><= <<=<<G<, >F=>EOM<=EO > >?<E4=<N ?D54<5F>6, 

ED54EF6 < ?D>F5EE>6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

- >E>55==>EF< ?D><7=>L5=<O; 

- ?D46<?4 GF5=<O F5>EF>6 ?D>D5EE<>=4?L=>= =4?D46?5==>EF<. 

�� 11 �E?>?L7>64FL 7=4=<O 

?> D<=4=E>6>= 7D4<>F-

=>EF<, ??4=<D>64FL 

?D54?D<=<<4F5?LE>GN 

45OF5?L=>EFL 6 

?D>D5EE<>=4?L=>= 

ED5D5. 

'<5=<O: 
- 6OO6?OFL 4>EF><=EF64 < =54>EF4F>< >><<5DG5E>>= <45<; 

- ?D575=F>64FL <45< >F>DOF<O E>5EF65==>7> 45?4 6 

?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

- >D>D<?OFL 5<7=5E-??4=; 

- D4EEG<FO64FL D47<5DO 6O??4F ?> ?D>F5=F=O< EF46>4< 

>D54<F>64=<O; 

- >?D545?OFL <=65EF<F<>==GN ?D<6?5>4F5?L=>EFL >><<5DG5E><E 

<45= 6 D4<>4E ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

- ?D575=F>64FL 5<7=5E-<45N; 

- >?D545?OFL <EF>G=<>< D<=4=E<D>64=<O. 
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�=4=<O: 
- >E=>6O ?D54?D<=<<4F5?LE>>= 45OF5?L=>EF<; 

- >E=>6O D<=4=E>6>= 7D4<>F=>EF<; 

- ?D46<?4 D47D45>F>< 5<7=5E-??4=>6; 

- ?>DO4>> 6OEFD4<64=<O ?D575=F4F<<; 

- >D54<F=O5 54=>>6E><5 ?D>4G>FO. 

 

4.2 �D>D5EE<>=4?L=O5 >><?5F5=F<<. 
�O?GE>=<>, >E6><6L<= >5D47>64F5?L=GN ?D>7D4<<G, 4>?65= >5?444FL ?D>D5EE<>-

=4?L=O<< >><?5F5=F<O<< (44?55 - ��), E>>F65FEF6GNM<<< >E=>6=O< 6<44< 45OF5?L=>EF<: 

 
�E=>6=O5 6<4O 

45OF5?L=>EF< 

�>4 < =4<<5=>64=<5 

>><?5F5=F<< 
�>>474F5?< >E6>5=<O >><?5F5=F<< 

��.01 $47D45>F>4 

<>4G?5= 

?D>7D4<<=>7> 

>55E?5G5=<O 4?O 

>><?LNF5D=OE 

E<EF5<. 

�� 1.1 $>D<<D>64FL 

4?7>D<F<O D47D45>F>< 

?D>7D4<<=OE <>4G?5= 6 

E>>F65FEF6<< E 

F5E=<G5E><< 7444=<5<. 

�D4>F<G5E><= >?OF: 
- D47D454FO64FL 4?7>D<F< D5L5=<O ?>EF46?5==>= 7444G< < 

D54?<7>6O64FL 57> ED54EF64<< 46F><4F<7<D>64==>7> 

?D>5>F<D>64=<O. 
'<5=<O: 
- D>D<<D>64FL 4?7>D<F<O D47D45>F>< ?D>7D4<<=OE 

<>4G?5= 6 E>>F65FEF6<< E F5E=<G5E><< 7444=<5<; 

- >D>D<?OFL 4>>G<5=F4F<N =4 ?D>7D4<<=O5 ED54EF64; 

- >F5=>4 E?>6=>EF< 4?7>D<F<4. 
�=4=<O: 
- >E=>6=O5 MF4?O D47D45>F>< ?D>7D4<<=>7> >55E?5G5=<O; 

- >E=>6=O5 ?D<=F<?O F5E=>?>7<< EFDG>FGD=>7> < 

>5N5>F=>->D<5=F<D>64==>7> ?D>7D4<<<D>64=<O; 

- 4>FG4?L=4O =>D<4F<6=>-?D46>64O 5474 6 >5?4EF< 

4>>G<5=F<D>64=<O 4?7>D<F<>6. 
�� 1.2 $47D454FO64FL 

?D>7D4<<=O5 <>4G?< 6 

E>>F65FEF6<< E 

F5E=<G5E><< 7444=<5<. 

�D4>F<G5E><= >?OF: 
- D47D454FO64FL >>4 ?D>7D4<<=>7> ?D>4G>F4 =4 >E=>65 

7>F>6>= E?5F<D<>4F<< =4 GD>6=5 <>4G?O; 

- D47D454FO64FL <>5<?L=O5 ?D<?>65=<O. 
'<5=<O: 
- E>74464FL ?D>7D4<<G ?> D47D45>F4==><G 4?7>D<F<G >4> 

>F45?L=O= <>4G?L; 

- >D>D<?OFL 4>>G<5=F4F<N =4 ?D>7D4<<=O5 ED54EF64; 

- >EGM5EF6?OFL D47D45>F>G >>44 ?D>7D4<<=>7> <>4G?O =4 

O7O>4E =<7>>7> GD>6=O < 6OE>>>7> GD>6=5=, 6 F>< G<E?5 

4?O <>5<?L=OE ??4FD>D<. 
�=4=<O: 
- >E=>6=O5 MF4?O D47D45>F>< ?D>7D4<<=>7> >55E?5G5=<O; 

- >E=>6=O5 ?D<=F<?O F5E=>?>7<< EFDG>FGD=>7> < 

>5N5>F=>->D<5=F<D>64==>7> ?D>7D4<<<D>64=<O; 

- 7=4=<5 API E>6D5<5==OE <>5<?L=OE >?5D4F<>==OE 

E<EF5<. 
��.1.3 �O?>?=OFL 

>F?44>G ?D>7D4<<=OE 

<>4G?5= E <E?>?L7>64-

=<5< E?5F<4?<7<D>64=-

=OE ?D>7D4<<=OE 

ED54EF6. 

�D4>F<G5E><= >?OF: 
- <E?>?L7>64FL <=EFDG<5=F4?L=O5 ED54EF64 =4 MF4?5 

>F?44>< ?D>7D4<<=>7> ?D>4G>F4; 

- ?D>6>4<FL F5EF<D>64=<5 ?D>7D4<<=>7> <>4G?O ?> 

>?D545?5==><G EF5=4D<N. 
'<5=<O: 
- 6O?>?=OFL >F?44>G < F5EF<D>64=<5 ?D>7D4<<O =4 GD>6=5 

<>4G?O; 
- >D>D<?OFL 4>>G<5=F4F<N =4 ?D>7D4<<=O5 ED54EF64; 
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  - ?D<<5=OFL <=EFDG<5=F4?L=O5 ED54EF64 >F?44>< 

?D>7D4<<=>7> >55E?5G5=<O. 
�=4=<O: 
- >E=>6=O5 ?D<=F<?O >F?44>< < F5EF<D>64=<O 

?D>7D4<<=OE ?D>4G>F>6; 

- <=EFDG<5=F4D<= >F?44>< ?D>7D4<<=OE ?D>4G>F>6. 

�� 1.4 �O?>?=OFL 

F5EF<D>64=<5 

?D>7D4<<=OE <>4G?5=. 

�D4>F<G5E><= >?OF: 
- ?D>6>4<FL F5EF<D>64=<5 ?D>7D4<<=>7> <>4G?O ?> 

>?D545?5==><G EF5=4D<N; 

- <E?>?L7>64FL <=EFDG<5=F4?L=O5 ED54EF64 =4 MF4?5 

F5EF<D>64=<O ?D>7D4<<=>7> ?D>4G>F4. 
'<5=<O: 
- 6O?>?=OFL >F?44>G < F5EF<D>64=<5 ?D>7D4<<O =4 GD>6=5 

<>4G?O; 

- >D>D<?OFL 4>>G<5=F4F<N =4 ?D>7D4<<=O5 ED54EF64. 
�=4=<O: 
- >E=>6=O5 6<4O < ?D<=F<?O F5EF<D>64=<O ?D>7D4<<=OE 

?D>4G>F>6. 
�� 1.5 �EGM5EF6?OFL 

D5D4>F>D<=7 < 

>?F<<<74F<N 

?D>7D4<<=>7> >>44. 

�D4>F<G5E><= >?OF: 
- 4=4?<7<D>64FL 4?7>D<F<O, 6 F>< G<E?5 E ?D<<5=5=<5< 

<=EFDG<5=F4?L=OE ED54EF6; 

- >EGM5EF6?OFL D5D4>F>D<=7 < >?F<<<74F<N 

?D>7D4<<=>7> >>44. 
'<5=<O: 
- 6O?>?=OFL >?F<<<74F<N < D5D4>F>D<=7 ?D>7D4<<=>7> 

>>44; 

- D45>F4FL E E<EF5<>= >>=FD>?O 65DE<=. 
�=4=<O: 
- E?>E>5O >?F<<<74F<< < ?D<5<O D5D4>F>D<=74; 

- <=EFDG<5=F4?L=O5 ED54EF64 4=4?<74 4?7>D<F<4; 

- <5F>4O >D74=<74F<< D5D4>F>D<=74 < >?F<<<74F<< >>44; 

- ?D<=F<?O D45>FO E E<EF5<>= >>=FD>?O 65DE<=. 
�� 1.6 $47D454FO64FL 

<>4G?< ?D>7D4<<=>7> 

>55E?5G5=<O 4?O 

<>5<?L=OE ??4FD>D<. 

�D4>F<G5E><= >?OF: 
- D47D454FO64FL <>5<?L=O5 ?D<?>65=<O. 
'<5=<O: 
- >EGM5EF6?OFL D47D45>F>G >>44 ?D>7D4<<=>7> <>4G?O =4 

E>6D5<5==OE O7O>4E ?D>7D4<<<D>64=<O; 

- >D>D<?OFL 4>>G<5=F4F<N =4 ?D>7D4<<=O5 ED54EF64. 
�=4=<O: 
- >E=>6=O5 MF4?O D47D45>F>< ?D>7D4<<=>7> >55E?5G5=<O; 

- >E=>6=O5 ?D<=F<?O F5E=>?>7<< EFDG>FGD=>7> < 

>5N5>F=>->D<5=F<D>64==>7> ?D>7D4<<<D>64=<O. 
��.02 �EGM5EF6-

?5=<5 <=F57D4F<< 

?D>7D4<<=OE 

<>4G?5=. 

�� 2.1 $47D454FO64FL 

FD55>64=<O > 

?D>7D4<<=O< <>4G?O< 

=4 >E=>65 4=4?<74 

?D>5>F=>= < F5E=<G5E-

>>= 4>>G<5=F4F<< =4 

?D54<5F 674<<>45=EF-

6<O >><?>=5=F. 

�D4>F<G5E><= >?OF: 
- D47D454FO64FL < >D>D<?OFL FD55>64=<O > ?D>7D4<<=O< 

<>4G?O< ?> ?D54?>65==>= 4>>G<5=F4F<<; 

- D47D454FO64FL F5EF>6O5 =45>DO (?4>5FO) 4?O 

?D>7D4<<=>7> <>4G?O; 

- D47D454FO64FL F5EF>6O5 EF5=4D<< ?D>7D4<<=>7> 

ED54EF64; 

- <=E?5>F<D>64FL D47D45>F4==O5 ?D>7D4<<=O5 <>4G?< =4 

?D54<5F E>>F65FEF6<O EF4=44DF4< >>4<D>64=<O. 
'<5=<O: 
- 4=4?<7<D>64FL ?D>5>F=GN < F5E=<G5E>GN 4>>G<5=F4F<N; 
- <E?>?L7>64FL E?5F<4?<7<D>64==O5 7D4D<G5E><5 ED54EF64 

?>EFD>5=<O < 4=4?<74 4DE<F5>FGDO ?D>7D4<<=OE ?D>4G>F>6; 
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  - >D74=<7>6O64FL 7444==GN <=F57D4F<N <>4G?5= 6 

?D>7D4<<=O5 ED54EF64 =4 5475 <<5NM5=EO 4DE<F5>FGDO 

< 46F><4F<74F<< 5<7=5E-?D>F5EE>6; 

- >?D545?OFL <EF>G=<>< < ?D<5<=<>< 44==OE; 

- ?D>6>4<FL ED46=<F5?L=O= 4=4?<7. �O?>?=OFL >F?44>G, 

<E?>?L7GO <5F>4O < <=EFDG<5=FO GE?>6=>= >><?<?OF<< 

(>?4EEO Debug < Trace); 

- >F5=<64FL D47<5D <<=<<4?L=>7> =45>D4 F5EF>6; 

- D47D454FO64FL F5EF>6O5 ?4>5FO < F5EF>6O5 EF5=4D<<; 

- 6OO6?OFL >L<5>< 6 E<EF5<=OE >><?>=5=F4E =4 >E=>65 

E?5F<D<>4F<=. 
�=4=<O: 
- <>45?< ?D>F5EE4 D47D45>F>< ?D>7D4<<=>7> >55E?5G5=<O; 

- >E=>6=O5 ?D<=F<?O ?D>F5EE4 D47D45>F>< ?D>7D4<<=>7> 

>55E?5G5=<O; 

- >E=>6=O5 ?>4E>4O > <=F57D<D>64=<N ?D>7D4<<=OE 

<>4G?5=; 

- 6<4O < 64D<4=FO <=F57D4F<>==OE D5L5=<=; 

- E>6D5<5==O5 F5E=>?>7<< < <=EFDG<5=FO <=F57D4F<<; 

- >E=>6=O5 ?D>F>>>?O 4>EFG?4 > 44==O<; 

- <5F>4O < E?>E>5O <45=F<D<>4F<< E5>56 < >L<5>> ?D< 

<=F57D4F<< ?D<?>65=<=; 

- <5F>4O >F?44>G=OE >?4EE>6; 

- EF4=44DFO >4G5EF64 ?D>7D4<<=>= 4>>G<5=F4F<<; 

- >E=>6O >D74=<74F<< <=E?5>F<D>64=<O < 65D<D<>4F<<; 

- 6EFD>5==O5 < >E=>6=O5 E?5F<4?<7<D>64==O5 

<=EFDG<5=FO 4=4?<74 >4G5EF64 ?D>7D4<<=OE ?D>4G>F>6; 

- 7D4D<G5E><5 ED54EF64 ?D>5>F<D>64=<O 4DE<F5>FGDO 

?D>7D4<<=OE ?D>4G>F>6; 

- <5F>4O >D74=<74F<< D45>FO 6 >><4=45 D47D45>FG<>>6. 
�� 2.2 �O?>?=OFL 

<=F57D4F<N <>4G?5= 6 

?D>7D4<<=>5 

>55E?5G5=<5. 

�D4>F<G5E><= >?OF: 
- <=F57D<D>64FL <>4G?< 6 ?D>7D4<<=>5 >55E?5G5=<5; 

- >F?46<64FL ?D>7D4<<=O5 <>4G?<; 

- <=E?5>F<D>64FL D47D45>F4==O5 ?D>7D4<<=O5 <>4G?< =4 

?D54<5F E>>F65FEF6<O EF4=44DF4< >>4<D>64=<O. 
'<5=<O: 
- <E?>?L7>64FL 6O5D4==GN E<EF5<G >>=FD>?O 65DE<=; 

- <E?>?L7>64FL <5F>4O 4?O ?>?GG5=<O >>44 E 7444==>= 

DG=>F<>=4?L=>EFLN < EF5?5=LN >4G5EF64; 

- >D74=<7>6O64FL 7444==GN <=F57D4F<N <>4G?5= 6 

?D>7D4<<=O5 ED54EF64 =4 5475 <<5NM5=EO 4DE<F5>FGDO 

< 46F><4F<74F<< 5<7=5E-?D>F5EE>6; 

- <E?>?L7>64FL D47?<G=O5 FD4=E?>DF=O5 ?D>F>>>?O < 

EF4=44DFO D>D<4F<D>64=<O E>>5M5=<=; 

- 6O?>?=OFL F5EF<D>64=<5 <=F57D4F<<; 

- >D74=<7>6O64FL ?>EF>5D45>F>G 44==OE; 

- E>74464FL >?4EEO-<E>?NG5=<O =4 >E=>65 547>6OE 

>?4EE>6; 
- 6O?>?=OFL DGG=>5 < 46F><4F<7<D>64==>5 F5EF<D>64=<5 

?D>7D4<<=>7> <>4G?O; 

- 6OO6?OFL >L<5>< 6 E<EF5<=OE >><?>=5=F4E =4 >E=>65 

E?5F<D<>4F<=; 

- <E?>?L7>64FL ?D<5<O D45>FO 6 E<EF5<4E >>=FD>?O 

65DE<=. 
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  �=4=<O: 
- <>45?< ?D>F5EE4 D47D45>F>< ?D>7D4<<=>7> >55E?5G5=<O; 

- >E=>6=O5 ?D<=F<?O ?D>F5EE4 D47D45>F>< ?D>7D4<<=>7> 

>55E?5G5=<O; 

- >E=>6=O5 ?>4E>4O > <=F57D<D>64=<N ?D>7D4<<=OE 

<>4G?5=; 

- >E=>6O 65D<D<>4F<< ?D>7D4<<=>7> >55E?5G5=<O; 

- E>6D5<5==O5 F5E=>?>7<< < <=EFDG<5=FO <=F57D4F<<; 

- >E=>6=O5 ?D>F>>>?O 4>EFG?4 > 44==O<; 

- <5F>4O < E?>E>5O <45=F<D<>4F<< E5>56 < >L<5>> ?D< 

<=F57D4F<< ?D<?>65=<=; 

- >E=>6=O5 <5F>4O >F?44><; 

- <5F>4O < EE5<O >5D45>F>< <E>?NG<F5?L=OE E<FG4F<=; 

- >E=>6=O5 <5F>4O < 6<4O F5EF<D>64=<O ?D>7D4<<=OE 

?D>4G>F>6; 

- EF4=44DFO >4G5EF64 ?D>7D4<<=>= 4>>G<5=F4F<<; 

- >E=>6O >D74=<74F<< <=E?5>F<D>64=<O < 65D<D<>4F<<; 

- ?D<5<O D45>FO E <=EFDG<5=F4?L=O<< ED54EF64<< 

F5EF<D>64=<O < >F?44><; 

- <5F>4O >D74=<74F<< D45>FO 6 >><4=45 D47D45>FG<>>6. 
�� 2.3 �O?>?=OFL 

>F?44>G ?D>7D4<<=>7> 

<>4G?O E 

<E?>?L7>64=<5< 

E?5F<4?<7<D>64==OE 

?D>7D4<<=OE ED54EF6. 

�D4>F<G5E><= >?OF: 
- >F?46<64FL ?D>7D4<<=O5 <>4G?<; 

- <=E?5>F<D>64FL D47D45>F4==O5 ?D>7D4<<=O5 <>4G?< =4 

?D54<5F E>>F65FEF6<O EF4=44DF4< >>4<D>64=<O. 
'<5=<O: 
- <E?>?L7>64FL 6O5D4==GN E<EF5<G >>=FD>?O 65DE<=; 

- <E?>?L7>64FL <5F>4O 4?O ?>?GG5=<O >>44 E 7444==>= 

DG=>F<>=4?L=>EFLN < EF5?5=LN >4G5EF64; 

- 4=4?<7<D>64FL ?D>5>F=GN < F5E=<G5E>GN 4>>G<5=F4F<N; 

- <E?>?L7>64FL <=EFDG<5=F4?L=O5 ED54EF64 >F?44>< 

?D>7D4<<=OE ?D>4G>F>6; 

- >?D545?OFL <EF>G=<>< < ?D<5<=<>< 44==OE; 

- 6O?>?=OFL F5EF<D>64=<5 <=F57D4F<<; 

- >D74=<7>6O64FL ?>EF>5D45>F>G 44==OE; 

- <E?>?L7>64FL ?D<5<O D45>FO 6 E<EF5<4E >>=FD>?O 

65DE<=; 

- 6O?>?=OFL >F?44>G, <E?>?L7GO <5F>4O < <=EFDG<5=FO 

GE?>6=>= >><?<?OF<<; 

- 6OO6?OFL >L<5>< 6 E<EF5<=OE >><?>=5=F4E =4 >E=>65 

E?5F<D<>4F<=. 
�=4=<O: 
- <>45?< ?D>F5EE4 D47D45>F>< ?D>7D4<<=>7> >55E?5G5=<O; 

- >E=>6=O5 ?D<=F<?O ?D>F5EE4 D47D45>F>< ?D>7D4<<=>7> 

>55E?5G5=<O; 

- >E=>6=O5 ?>4E>4O > <=F57D<D>64=<N ?D>7D4<<=OE 

<>4G?5=; 

- >E=>6O 65D<D<>4F<< < 4FF5EF4F<< ?D>7D4<<=>7> 

>55E?5G5=<O; 
- <5F>4O < E?>E>5O <45=F<D<>4F<< E5>56 < >L<5>> ?D< 

<=F57D4F<< ?D<?>65=<=; 

- >E=>6=O5 <5F>4O >F?44><; 

- <5F>4O < EE5<O >5D45>F>< <E>?NG<F5?L=OE E<FG4F<=; 

- ?D<5<O D45>FO E <=EFDG<5=F4?L=O<< ED54EF64<< 

F5EF<D>64=<O < >F?44><; 

- EF4=44DFO >4G5EF64 ?D>7D4<<=>= 4>>G<5=F4F<<; 
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  - >E=>6O >D74=<74F<< <=E?5>F<D>64=<O < 65D<D<>4F<<; 

- 6EFD>5==O5 < >E=>6=O5 E?5F<4?<7<D>64==O5 

<=EFDG<5=FO 4=4?<74 >4G5EF64 ?D>7D4<<=OE ?D>4G>F>6; 

- <5F>4O >D74=<74F<< D45>FO 6 >><4=45 D47D45>FG<>>6. 

�� 2.4 �EGM5EF6?OFL 

D47D45>F>G F5EF>6OE 

=45>D>6 < F5EF>6OE 

EF5=4D<56 4?O 

?D>7D4<<=>7> 

>55E?5G5=<O. 

�D4>F<G5E><= >?OF: 
- D47D454FO64FL F5EF>6O5 =45>DO (?4>5FO) 4?O 

?D>7D4<<=>7> <>4G?O; 

- D47D454FO64FL F5EF>6O5 EF5=4D<< ?D>7D4<<=>7> 

ED54EF64; 

- <=E?5>F<D>64FL D47D45>F4==O5 ?D>7D4<<=O5 <>4G?< =4 

?D54<5F E>>F65FEF6<O EF4=44DF4< >>4<D>64=<O. 
'<5=<O: 
- <E?>?L7>64FL 6O5D4==GN E<EF5<G >>=FD>?O 65DE<=; 

- 4=4?<7<D>64FL ?D>5>F=GN < F5E=<G5E>GN 4>>G<5=F4F<N; 

- 6O?>?=OFL F5EF<D>64=<5 <=F57D4F<<; 

- >D74=<7>6O64FL ?>EF>5D45>F>G 44==OE; 
- <E?>?L7>64FL ?D<5<O D45>FO 6 E<EF5<4E >>=FD>?O 65DE<=; 

- >F5=<64FL D47<5D <<=<<4?L=>7> =45>D4 F5EF>6; 

- D47D454FO64FL F5EF>6O5 ?4>5FO < F5EF>6O5 EF5=4D<<; 

- 6O?>?=OFL DGG=>5 < 46F><4F<7<D>64==>5 F5EF<D>64=<5 

?D>7D4<<=>7> <>4G?O; 

- 6OO6?OFL >L<5>< 6 E<EF5<=OE >><?>=5=F4E =4 >E=>65 

E?5F<D<>4F<=. 
�=4=<O: 
- <>45?< ?D>F5EE4 D47D45>F>< ?D>7D4<<=>7> >55E?5G5=<O; 

- >E=>6=O5 ?D<=F<?O ?D>F5EE4 D47D45>F>< ?D>7D4<<=>7> 

>55E?5G5=<O; 

- >E=>6=O5 ?>4E>4O > <=F57D<D>64=<N ?D>7D4<<=OE 

<>4G?5=; 

- >E=>6O 65D<D<>4F<< < 4FF5EF4F<< ?D>7D4<<=>7> 

>55E?5G5=<O; 

- <5F>4O < E?>E>5O <45=F<D<>4F<< E5>56 < >L<5>> ?D< 

<=F57D4F<< ?D<?>65=<=; 

- <5F>4O < EE5<O >5D45>F>< <E>?NG<F5?L=OE E<FG4F<=; 

- >E=>6=O5 <5F>4O < 6<4O F5EF<D>64=<O ?D>7D4<<=OE 

?D>4G>F>6; 

- ?D<5<O D45>FO E <=EFDG<5=F4?L=O<< ED54EF64<< 

F5EF<D>64=<O < >F?44><; 

- EF4=44DFO >4G5EF64 ?D>7D4<<=>= 4>>G<5=F4F<<; 

- >E=>6O >D74=<74F<< <=E?5>F<D>64=<O < 65D<D<>4F<<; 

- 6EFD>5==O5 < >E=>6=O5 E?5F<4?<7<D>64==O5 

<=EFDG<5=FO 4=4?<74 >4G5EF64 ?D>7D4<<=OE ?D>4G>F>6; 

- <5F>4O >D74=<74F<< D45>FO 6 >><4=45 D47D45>FG<>>6. 
�� 2.5 �D><76>4<FL 

<=E?5>F<D>64=<5 

>><?>=5=F ?D>7D4<-

<=>7> >55E?5G5=<O =4 

?D54<5F E>>F65FEF6<O 

EF4=44DF4< 

>>4<D>64=<O. 

�D4>F<G5E><= >?OF: 
- <=E?5>F<D>64FL D47D45>F4==O5 ?D>7D4<<=O5 <>4G?< =4 

?D54<5F E>>F65FEF6<O EF4=44DF4< >>4<D>64=<O. 
'<5=<O: 
- <E?>?L7>64FL 6O5D4==GN E<EF5<G >>=FD>?O 65DE<=; 

- <E?>?L7>64FL <5F>4O 4?O ?>?GG5=<O >>44 E 7444==>= 

DG=>F<>=4?L=>EFLN < EF5?5=LN >4G5EF64; 

- 4=4?<7<D>64FL ?D>5>F=GN < F5E=<G5E>GN 4>>G<5=F4F<N; 
- >D74=<7>6O64FL ?>EF>5D45>F>G 44==OE; 

- ?D<5<O D45>FO 6 E<EF5<4E >>=FD>?O 65DE<=; 

- 6OO6?OFL >L<5>< 6 E<EF5<=OE >><?>=5=F4E =4 >E=>65 

E?5F<D<>4F<=. 
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  �=4=<O: 
- <>45?< ?D>F5EE4 D47D45>F>< ?D>7D4<<=>7> >55E?5G5=<O; 

- >E=>6=O5 ?D<=F<?O ?D>F5EE4 D47D45>F>< ?D>7D4<<=>7> 

>55E?5G5=<O; 

- >E=>6=O5 ?>4E>4O > <=F57D<D>64=<N ?D>7D4<<=OE 

<>4G?5=; 

- >E=>6O 65D<D<>4F<< < 4FF5EF4F<< ?D>7D4<<=>7> 

>55E?5G5=<O; 

- EF4=44DFO >4G5EF64 ?D>7D4<<=>= 4>>G<5=F4F<<; 

- >E=>6O >D74=<74F<< <=E?5>F<D>64=<O < 65D<D<>4F<<; 

- 6EFD>5==O5 < >E=>6=O5 E?5F<4?<7<D>64==O5 

<=EFDG<5=FO 4=4?<74 >4G5EF64 ?D>7D4<<=OE ?D>4G>F>6; 

- <5F>4O >D74=<74F<< D45>FO 6 >><4=45 D47D45>FG<>>6. 
��.04 %>?D>-

6>645=<5 < 

>5E?G6<64=<5 

?D>7D4<<=>7> 

>55E?5G5=<O 

>><?LNF5D=OE 

E<EF5<. 

�� 4.1 �EGM5EF6?OFL 

<=EF4??OF<N, =4EFD>=-

>G < >5E?G6<64=<5 

?D>7D4<<=>7> >55E?5-

G5=<O >><?LNF5D=OE 

E<EF5<. 

�D4>F<G5E><= >?OF: 
- 6O?>?=OFL <=EF4??OF<N, =4EFD>=>G < >5E?G6<64=<5 

?D>7D4<<=>7> >55E?5G5=<O >><?LNF5D=OE E<EF5<; 

- =4EFD>=>4 >F45?L=OE >><?>=5=F>6 ?D>7D4<<=>7> 

>55E?5G5=<O >><?LNF5D=OE E<EF5<. 
'<5=<O: 
- ?>45<D4FL < =4EFD4<64FL >>=D<7GD4F<N ?D>7D4<<=>7> 

>55E?5G5=<O >><?LNF5D=OE E<EF5<; 

- ?D>6>4<FL <=EF4??OF<N ?D>7D4<<=>7> >55E?5G5=<O 

>><?LNF5D=OE E<EF5<; 

- ?D><76>4<FL =4EFD>=>G >F45?L=OE >><?>=5=F 

?D>7D4<<=>7> >55E?5G5=<O >><?LNF5D=OE E<EF5<. 
�=4=<O: 
- >E=>6=O5 <5F>4O < ED54EF64 MDD5>F<6=>7> 4=4?<74 

DG=>F<>=<D>64=<O ?D>7D4<<=>7> >55E?5G5=<O; 

- >E=>6=O5 6<4O D45>F =4 MF4?5 E>?D>6>645=<O ��. 
�� 4.2 �EGM5EF6?OFL 

<7<5D5=<O M>E??G4F4-

F<>==OE E4D4>F5D<EF<> 

?D>7D4<<=>7> >55E?5-

G5=<O >><?LNF5D=OE 

E<EF5<. 

�D4>F<G5E><= >?OF: 
- <7<5DOFL M>E??G4F4F<>==O5 E4D4>F5D<EF<>< 

?D>7D4<<=>7> >55E?5G5=<O >><?LNF5D=OE E<EF5< =4 

E>>F65FEF6<5 FD55>64=<O<. 
'<5=<O: 
- <7<5DOFL < 4=4?<7<D>64FL M>E??G4F4F<>==O5 

E4D4>F5D<EF<>< >4G5EF64 ?D>7D4<<=>7> >55E?5G5=<O. 
�=4=<O: 
- >E=>6=O5 <5F>4O < ED54EF64 MDD5>F<6=>7> 4=4?<74 

DG=>F<>=<D>64=<O ?D>7D4<<=>7> >55E?5G5=<O; 

- >E=>6=O5 ?D<=F<?O >>=FD>?O >>=D<7GD4F<< < 

?>445D6>< F5?>EF=>EF< >>=D<7GD4F<< ��. 
�� 4.3 �O?>?=OFL 

D45>FO ?> <>4<D<>4-

F<< >F45?L=OE >><?>-

=5=F ?D>7D4<<=>7> 

>55E?5G5=<O 6 

E>>F65FEF6<< E 

?>FD55=>EFO<< 

74>47G<>4. 

�D4>F<G5E><= >?OF: 
- <>4<D<F<D>64FL >F45?L=O5 >><?>=5=FO ?D>7D4<<=>7> 

>55E?5G5=<O 6 E>>F65FEF6<< E ?>FD55=>EFO<< 74>47G<>4; 

- 6O?>?=5=<5 >F45?L=OE 6<4>6 D45>F =4 MF4?5 ?>445D6>< 

?D>7D4<<=>7> >55E?5G5=<O >><?LNF5D=OE E<EF5<. 
'<5=<O: 
- >?D545?OFL =4?D46?5=<O <>4<D<>4F<< ?D>7D4<<=>7> 

?D>4G>F4; 

- D47D454FO64FL < =4EFD4<64FL ?D>7D4<<=O5 <>4G?< 

?D>7D4<<=>7> ?D>4G>F4; 
- =4EFD4<64FL >>=D<7GD4F<N ?D>7D4<<=>7> >55E?5G5=<O 

>><?LNF5D=OE E<EF5<. 
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  �=4=<O: 
- >E=>6=O5 <5F>4O < ED54EF64 MDD5>F<6=>7> 4=4?<74 

DG=>F<>=<D>64=<O ?D>7D4<<=>7> >55E?5G5=<O. 
�� 4.4 �55E?5G<64FL 

74M<FG ?D>7D4<<=>7> 

>55E?5G5=<O >><?LN-

F5D=OE E<EF5< 

?D>7D4<<=O<< 

ED54EF64<<. 

�D4>F<G5E><= >?OF: 
- >55E?5G<64FL 74M<FG ?D>7D4<<=>7> >55E?5G5=<O 

>><?LNF5D=OE E<EF5< ?D>7D4<<=O<< ED54EF64<<. 
'<5=<O: 
- <E?>?L7>64FL <5F>4O 74M<FO ?D>7D4<<=>7> >55E?5G5=<O 

>><?LNF5D=OE E<EF5<; 

- 4=4?<7<D>64FL D<E>< < E4D4>F5D<EF<>< >4G5EF64 

?D>7D4<<=>7> >55E?5G5=<O; 

- 6O5<D4FL < <E?>?L7>64FL <5F>4O < ED54EF64 74M<FO 

>><?LNF5D=OE E<EF5< ?D>7D4<<=O<< < 4??4D4F=O<< 

ED54EF64<<. 
�=4=<O: 
- >E=>6=O5 ED54EF64 < <5F>4O 74M<FO >><?LNF5D=OE 

E<EF5< ?D>7D4<<=O<< < 4??4D4F=O<< ED54EF64<<. 
��.11 $47D45>F>4, 

44<<=<EFD<D>64=

<5 < 74M<F4 547 

44==OE. 

�� 11.1 �EGM5EF6?OFL 

E5>D, >5D45>F>G < 

4=4?<7 <=D>D<4F<< 4?O 

?D>5>F<D>64=<O 547 

44==OE. 

�D4>F<G5E><= >?OF: 
- 6O?>?=OFL E5>D, >5D45>F>G < 4=4?<7 <=D>D<4F<< 4?O 

?D>5>F<D>64=<O 547 44==OE. 
'<5=<O: 
- D45>F4FL E 4>>G<5=F4<< >FD4E?56>= =4?D46?5==>EF<; 

- E>5<D4FL, >5D454FO64FL < 4=4?<7<D>64FL <=D>D<4F<N =4 

?D54?D>5>F=>= EF44<<. 
�=4=<O: 
- <5F>4O >?<E4=<O EE5< 547 44==OE 6 E>6D5<5==OE  

%'��; 

- >E=>6=O5 ?>?>65=<O F5>D<< 547 44==OE, ED4=<?<M 

44==OE, 547 7=4=<=; 

- >E=>6=O5 ?D<=F<?O EFDG>FGD<74F<< < =>D<4?<74F<< 

547O 44==OE; 

- >E=>6=O5 ?D<=F<?O ?>EFD>5=<O >>=F5?FG4?L=>=, 

?>7<G5E>>= < D<7<G5E>>= <>45?< 44==OE. 
�� 11.2 �D>5>F<D>64FL 

547G 44==OE =4 >E=>65 

4=4?<74 ?D54<5F=>= 

>5?4EF<. 

�D4>F<G5E><= >?OF: 
- 6O?>?=OFL D45>FO E 4>>G<5=F4<< >FD4E?56>= 

=4?D46?5==>EF<. 
'<5=<O: 
- D45>F4FL E E>6D5<5==O<< case-ED54EF64<< 

?D>5>F<D>64=<O 547 44==OE. 
�=4=<O: 
- >E=>6=O5 ?D<=F<?O EFDG>FGD<74F<< < =>D<4?<74F<< 

547O 44==OE; 

- EFDG>FGDO 44==OE %'��, >5M<= ?>4E>4 > >D74=<74F<< 

?D54EF46?5=<=, F45?<F, <=45>E>6 < >?4EF5D>6. 
�� 11.3 $47D454FO64FL 

>5N5>FO 547O 44==OE 6 

E>>F65FEF6<< E 

D57G?LF4F4<< 4=4?<74 

?D54<5F=>= >5?4EF<. 

�D4>F<G5E><= >?OF: 
- D45>F4FL E >5N5>F4<< 547 44==OE 6 >>=>D5F=>= E<EF5<5 

G?D46?5=<O 5474<< 44==OE; 

- <E?>?L7>64FL EF4=44DF=O5 <5F>4O 74M<FO >5N5>F>6 

547O 44==OE; 

- D45>F4FL E 4>>G<5=F4<< >FD4E?56>= =4?D46?5==>EF<; 

- <E?>?L7>64FL ED54EF64 74?>?=5=<O 547O 44==OE; 

- <E?>?L7>64FL EF4=44DF=O5 <5F>4O 74M<FO >5N5>F>6 

547O 44==OE. 
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'<5=<O: 
- D45>F4FL E E>6D5<5==O<< case-ED54EF64<< 

?D>5>F<D>64=<O 547 44==OE; 

- E>74464FL >5N5>FO 547 44==OE 6 E>6D5<5==OE %'��. 
�=4=<O: 
- <5F>4O >?<E4=<O EE5< 547 44==OE 6 E>6D5<5==OE  

%'��; 

- EFDG>FGDO 44==OE %'��, >5M<= ?>4E>4 > >D74=<74F<< 

?D54EF46?5=<=, F45?<F, <=45>E>6 < >?4EF5D>6; 

- <5F>4O >D74=<74F<< F5?>EF=>EF< 44==OE. 
�� 11.4 $54?<7>6O64FL 

547G 44==OE 6 >>=>D5F-

=>= E<EF5<5 G?D46?5=<O 

5474<< 44==OE. 

�D4>F<G5E><= >?OF: 
- D45>F4FL E >5N5>F4<< 547O 44==OE 6 >>=>D5F=>= E<EF5<5 

G?D46?5=<O 5474<< 44==OE. 
'<5=<O: 
- E>74464FL >5N5>FO 547 44==OE 6 E>6D5<5==OE %'��. 
�=4=<O: 
- >E=>6=O5 ?D<=F<?O EFDG>FGD<74F<< < =>D<4?<74F<< 

547O 44==OE; 

- >E=>6=O5 ?D<=F<?O ?>EFD>5=<O >>=F5?FG4?L=>=, 

?>7<G5E>>= < D<7<G5E>>= <>45?< 44==OE. 
�� 11.5 �4<<=<EFD<-

D>64FL 547O 44==OE. 
�D4>F<G5E><= >?OF: 
- 6O?>?=OFL D45>FO E >5N5>F4<< 547O 44==OE 6 

>>=>D5F=>= E<EF5<5 G?D46?5=<O 5474<< 44==OE. 
'<5=<O: 
- ?D<<5=OFL EF4=44DF=O5 <5F>4O 4?O 74M<FO >5N5>F>6 

547O 44==OE; 

- 6O?>?=OFL EF4=44DF=O5 ?D>F54GDO D575D6=>7> 

>>?<D>64=<O < <>=<F>D<=74 6O?>?=5=<O MF>= 

?D>F54GDO; 

- 6O?>?=OFL ?D>F54GDG 6>EEF4=>6?5=<O 547O 44==OE < 

65EF< <>=<F>D<=7 6O?>?=5=<O MF>= ?D>F54GDO. 
�=4=<O: 
- F5E=>?>7<< ?5D544G< < >5<5=4 44==O<< 6 

>><?LNF5D=OE E5FOE; 

- 4?7>D<F< ?D>6545=<O ?D>F54GDO D575D6=>7> 

>>?<D>64=<O; 

- 4?7>D<F< ?D>6545=<O ?D>F54GDO 6>EEF4=>6?5=<O 547O 

44==OE. 
�� 11.6 �4M<M4FL 

<=D>D<4F<N 6 5475 

44==OE E <E?>?L7>64-

=<5< F5E=>?>7<< 

74M<FO <=D>D<4F<<. 

�D4>F<G5E><= >?OF: 
- <E?>?L7>64FL EF4=44DF=O5 <5F>4O 74M<FO >5N5>F>6 

547O 44==OE. 

'<5=<O: 
- 6O?>?=OFL GEF4=>6>G < =4EFD>=>G ?D>7D4<<=>7> 

>55E?5G5=<O 4?O >55E?5G5=<O D45>FO ?>?L7>64F5?O E 

547>= 44==OE; 

- >55E?5G<64FL <=D>D<4F<>==GN 557>?4E=>EFL =4 GD>6=5 

547O 44==OE. 
�=4=<O: 
- <5F>4O >D74=<74F<< F5?>EF=>EF< 44==OE; 

- E?>E>5O >>=FD>?O 4>EFG?4 > 44==O< < G?D46?5=<O 

?D<6<?57<O<<; 

- >E=>6O D47D45>F>< ?D<?>65=<= 547 44==OE; 

- >E=>6=O5 <5F>4O < ED54EF64 74M<FO 44==OE 6 5475 

44==OE. 
 



18 

 

'D&�%� %<5�'&� E4<>EF>OF5?L=> ??4=<DG5F D57G?LF4FO >5GG5=<O ?> >F45?L=O< 

4<EF<??<=4<, <>4G?O< < ?D4>F<>4<, >>F>DO5 4>?6=O 5OFL E>>F=5E5=O E FD55G5<O<< 

D57G?LF4F4<< >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O (>><?5F5=F<O<< 6O?GE>=<>>6). 

%>6>>G?=>EFL 74??4=<D>64==OE D57G?LF4F>6 >5GG5=<O 4>?6=4 >55E?5G<64FL 6O?GE>=<>G 

>E6>5=<5 6E5E �� < ��, GEF4=>6?5==OE $��% %��. 

 

$����� 5 %&$'�&'$� ��$�����&��,��� �$��$���/ 
 

5.1 %FDG>FGD4 >5D47>64F5?L=>= ?D>7D4<<O 6>?NG45F >5O74F5?L=GN G4EFL < G4EFL, 

D>D<<DG5<GN GG4EF=<>4<< >5D47>64F5?L=OE >F=>L5=<= (64D<4F<6=GN G4EFL). 

�5O74F5?L=4O G4EFL >5D47>64F5?L=>= ?D>7D4<<O =4?D46?5=4 =4 D>D<<D>64=<5 >5M<E < 

?D>D5EE<>=4?L=OE >><?5F5=F<=, ?D54GE<>FD5==OE $��% %��, < E>EF46?O5F =5 5>?55 

70 ?D>F5=F>6 (69,49% - 2952 G4E4) >F >5M57> >5N5<4 6D5<5=<, >F6545==>7> =4 55 >E6>5=<5. 

�4D<4F<6=4O G4EFL >5D47>64F5?L=>= ?D>7D4<<O E>EF46?O5F =5 <5=55 30 ?D>F5=F>6 

(30,51% - 1296 G4E>6) < 445F 6>7<>6=>EFL D4EL<D5=<O >E=>6=OE 6<4>6 45OF5?L=>EF<, > 

>>F>DO< 4>?65= 5OFL 7>F>6 6O?GE>=<>, >E6><6L<= >5D47>64F5?L=GN ?D>7D4<<G, E>7?4E=> 

6O5D4==>= >64?<D<>4F<< - ?D>7D4<<<EF, G7?G5?5=<O ?>47>F>6>< >5GG4NM57>EO, 4 F4>65 

?>?GG5=<O 4>?>?=<F5?L=OE >><?5F5=F<=, =5>5E>4<<OE 4?O >55E?5G5=<O >>=>GD5=F>-

E?>E>5=>EF< 6O?GE>=<>4 6 E>>F65FEF6<< E 74?D>E4<< D57<>=4?L=>7> DO=>4 FDG44. 

�>=>D5F=>5 E>>F=>L5=<5 >5N5<>6 >5O74F5?L=>= G4EF< < 64D<4F<6=>= G4EF< 

>5D47>64F5?L=>= ?D>7D4<<O >?D545?5=> 'D&�%� %<5�'&� E4<>EF>OF5?L=> 6 E>>F65FEF6<< 

E FD55>64=<O<< $��% %��, 4 F4>65 E GG5F>< ����. 

 

5.2 �5D47>64F5?L=4O ?D>7D4<<4 <<55F E?54GNMGN EFDG>FGDG: 

- >5M<= 7G<4=<F4D=O= < E>F<4?L=>-M>>=><<G5E><= F<>?; 

- <4F5<4F<G5E><= < >5M<= 5EF5EF65==>=4GG=O= F<>?; 

- >5M5?D>D5EE<>=4?L=O= F<>?; 

- ?D>D5EE<>=4?L=O= F<>?; 

- 7>EG44DEF65==4O <F>7>64O 4FF5EF4F<O, >>F>D4O 7465DL45FEO ?D<E6>5=<5< 

>64?<D<>4F<< E?5F<4?<EF4 ED54=57> 765=4 - ?D>7D4<<<EF. 

 

5.3 �5D5G5=L, E>45D64=<5, >5N5< < ?>DO4>> D54?<74F<< GG55=OE 4<EF<??<= < 

?D>D5EE<>=4?L=OE <>4G?5= >5D47>64F5?L=>= ?D>7D4<<O >?D545?5=> 'D&�%� %<5�'&� 

E4<>EF>OF5?L=> E GG5F>< ����. 

 

5.4 � >5M5< 7G<4=<F4D=>< < E>F<4?L=>-M>>=><<G5E>><, <4F5<4F<G5E>>< < >5M5< 

5EF5EF65==>=4GG=><, >5M5?D>D5EE<>=4?L=>< < ?D>D5EE<>=4?L=>< F<>?4E (44?55 - GG55=O5 

F<>?O) >5D47>64F5?L=>= ?D>7D4<<O 6O45?5= >5N5< D45>FO >5GG4NM<EEO 6> 674<<>45=EF6<< 

E ?D5?>4464F5?5< ?> 6<44< GG55=OE 74=OF<= (GD>>, ?D4>F<G5E>>5 74=OF<5, ?45>D4F>D=>5 

74=OF<5, >>=EG?LF4F<O, ?5>F<O, E5<<=4D), ?D4>F<>< (6 ?D>D5EE<>=4?L=>< F<>?5) < 

E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO. 

�4 ?D>6545=<5 GG55=OE 74=OF<= < ?D4>F<> ?D< >E6>5=<< GG55=OE F<>?>6 

>5D47>64F5?L=>= ?D>7D4<<O 6 >G=>= D>D<5 >5GG5=<O 6O45?5=> =5 <5=55 70 ?D>F5=F>6 >F 

>5N5<4 GG55=OE F<>?>6 >5D47>64F5?L=>= ?D>7D4<<O, ?D54GE<>FD5==>7> $��% %��. 

� GG55=O5 F<>?O 6>?NG5=4 ?D><56GF>G=4O 4FF5EF4F<O >5GG4NM<EEO, >>F>D4O 

>EGM5EF6?O5FEO 6 D4<>4E >E6>5=<O G>474==OE F<>?>6 6 E>>F65FEF6<< E D47D45>F4==O<< 

'D&�%� %<5�'&� D>=44<< >F5=>G=OE ED54EF6, ?>76>?ONM<<< >F5=<FL 4>EF<65=<O 

74??4=<D>64==OE ?> >F45?L=O< GG55=O< 4<EF<??<=4<, <564<EF<??<=4D=O< >GDE4<, 

?D>D5EE<>=4?L=O< <>4G?O< < ?D4>F<>4< D57G?LF4F>6 >5GG5=<O. 
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5.5 �5O74F5?L=4O G4EFL >5M57> 7G<4=<F4D=>7> < E>F<4?L=>-M>>=><<G5E>>7> F<>?4 

>5D47>64F5?L=>= ?D>7D4<<O ?D54GE<4FD<645F <7GG5=<5 E?54GNM<E >5O74F5?L=OE 

4<EF<??<=: «�E=>6O D<?>E>D<<», «�EF>D<O», «�E<E>?>7<O >5M5=<O», «�=>EFD4==O= O7O> 

6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<», «$<7<G5E>4O >G?LFGD4». 

�5M<= >5N5< 4<EF<??<=O «$<7<G5E>4O >G?LFGD4» E>EF46?O5F =5 <5=55 160 

4>445<<G5E><E G4E>6. �?O >5GG4NM<EEO <=64?<4>6 < ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 

74>D>6LO 'D&�%� %<5�'&� GEF4=46?<645F >E>5O= ?>DO4>> >E6>5=<O 4<EF<??<=O 

«$<7<G5E>4O >G?LFGD4» E GG5F>< E>EF>O=<O <E 74>D>6LO. 

 

5.6 �D< D>D<<D>64=<< >5D47>64F5?L=>= ?D>7D4<<O ?D54GE<>FD5=> 6>?NG5=<5 

444?F4F<>==>= 4<EF<??<=O «%>F<4?L=4O 444?F4F<O < >E=>6O E>F<4?L=>-?D46>6OE 7=4=<=», 

>55E?5G<64NM5= >>DD5>F<N =4DGL5=<= D476<F<O < E>F<4?L=GN 444?F4F<N >5GG4NM<EEO 

<=64?<4>6 < ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO. 

 

5.7 �E6>5=<5 >5M5?D>D5EE<>=4?L=>7> F<>?4 >5D47>64F5?L=>= ?D>7D4<<O 6 >G=>= 

D>D<5 >5GG5=<O ?D54GE<4FD<645F <7GG5=<5 4<EF<??<=O «�57>?4E=>EFL 6<7=545OF5?L=>EF<» 

6 >5N5<5 68 4>445<<G5E><E G4E>6, <7 =<E =4 >E6>5=<5 >E=>6 6>5==>= E?G65O (4?O N=>L5=) - 

70 ?D>F5=F>6 >F >5M57> >5N5<4 6D5<5=<, >F6545==>7> =4 G>474==GN 4<EF<??<=G. 

�5D47>64F5?L=>= ?D>7D4<<>= 4?O ?>47DG?? 456GL5> <>65F 5OFL ?D54GE<>FD5=> 

<E?>?L7>64=<5 70 ?D>F5=F>6 >F >5M57> >5N5<4 6D5<5=< 4<EF<??<=O «�57>?4E=>EFL 

6<7=545OF5?L=>EF<», ?D54GE<>FD5==>7> =4 <7GG5=<5 >E=>6 6>5==>= E?G65O, =4 >E6>5=<5 

>E=>6 <54<F<=E><E 7=4=<=. 

 

5.8 �D>D5EE<>=4?L=O= F<>? >5D47>64F5?L=>= ?D>7D4<<O 6>?NG45F ?D>D5EE<>=4?L=O5 

<>4G?<, >>F>DO5 D>D<<DGNFEO 6 E>>F65FEF6<< E >E=>6=O<< 6<44<< 45OF5?L=>EF<, 

?D54GE<>FD5==O<< $��% %��. � E>EF46 ?D>D5EE<>=4?L=>7> <>4G?O 6E>4<F >4<= <?< 

=5E>>?L>> <564<EF<??<=4D=OE >GDE>6, GG55=4O ?D4>F<>4 < ?D><76>4EF65==4O ?D4>F<>4. 

 

5.9 �>47>F>6>4 >5GG4NM<EEO ?> >5D47>64F5?L=>= ?D>7D4<<5 ?D54?>?4745F <7GG5=<5 

E?54GNM<E GG55=OE 4<EF<??<= < ?D>D5EE<>=4?L=OE <>4G?5=: 

��%-.01 �E=>6O D<?>E>D<<; 

��%-.02 �EF>D<O; 

��%-.03 �=>EFD4==O= O7O> 6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

��%-.04 $<7<G5E>4O >G?LFGD4; 

��%-.05 �E<E>?>7<O >5M5=<O; 

��%-.06 �E=>6O ?D464 / ��%-.06 %>F<4?L=4O 444?F4F<O < >E=>6O E>F<4?L=>-

?D46>6OE 7=4=<=; 

��.01 -?5<5=FO 6OEL5= <4F5<4F<><; 

��.02 �<E>D5F=4O <4F5<4F<>4 E M?5<5=F4<< <4F5<4F<G5E>>= ?>7<><; 

��.03 &5>D<O 65D>OF=>EF5= < <4F5<4F<G5E>4O EF4F<EF<>4; 

��.01 �?5D4F<>==O5 E<EF5<O < ED54O; 

��.02 �DE<F5>FGD4 4??4D4F=OE ED54EF6; 

��.03 �=D>D<4F<>==O5 F5E=>?>7<<; 

��.04 �E=>6O 4?7>D<F<<74F<< < ?D>7D4<<<D>64=<O; 

��.05 �D46>6>5 >55E?5G5=<5 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

��.06 �57>?4E=>EFL 6<7=545OF5?L=>EF<; 

��.07 ->>=><<>4 >FD4E?<; 

��.08 �E=>6O ?D>5>F<D>64=<O 547 44==OE; 

��.09 %F4=44DF<74F<O, E5DF<D<>4F<O < F5E=<G5E>>5 4>>G<5=F>6545=<5; 

��.10 '<E?5==O5 <5F>4O; 

��.11 �><?LNF5D=O5 E5F<; 
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��.12 �5=546<5=F 6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

��.13 &5E=<G5E><5 ED54EF64 <=D>D<4F<74F<<; 

��.01 $47D45>F>4 <>4G?5= ?D>7D4<<=>7> >55E?5G5=<O 4?O >><?LNF5D=OE E<EF5<; 

��.02 �EGM5EF6?5=<5 <=F57D4F<< ?D>7D4<<=OE <>4G?5=; 

��.04 %>?D>6>645=<5 < >5E?G6<64=<5 ?D>7D4<<=>7> >55E?5G5=<O >><?LNF5D=OE 

E<EF5<; 

��.11 $47D45>F>4, 44<<=<EFD<D>64=<5 < 74M<F4 547 44==OE. 

 

5.10 �>EG44DEF65==4O <F>7>64O 4FF5EF4F<O ?D>6>4<FEO 6 D>D<5 45<>=EFD4F<>==>7> 

M>74<5=4 < 74M<FO 4<??><=>7> ?D>5>F4 (D45>FO). 

&5<4F<>4 4<??><=>7> ?D>5>F4 (D45>FO) 4>?6=4 E>>F65FEF6>64FL E>45D64=<N >4=>7> 

<?< =5E>>?L><E ?D>D5EE<>=4?L=OE <>4G?5=, 6E>4OM<E 6 >5D47>64F5?L=GN ?D>7D4<<G. 

&D55>64=<O > E>45D64=<N, >5N5<G < EFDG>FGD5 4<??><=>7> ?D>5>F4 (D45>FO) 'D&�%� 

%<5�'&� >?D545?O5F E4<>EF>OF5?L=> E GG5F>< ����. 

 

6 ���'���&/, $�������&�$'.-�� %���$����� � 
�$������&�. ��$�����&��,���� �$�&�%%� 

�$� $������&�� ��$�����&��,��� �$��$���/ 
 

%>45D64=<5 < >D74=<74F<O >5D47>64F5?L=>7> ?D>F5EE4 ?D< D54?<74F<< 

>5D47>64F5?L=>= ?D>7D4<<O D57?4<5=F<DG5FEO GG55=O< ??4=><; >4?5=44D=O< GG55=O< 

7D4D<>><; D45>G<<< ?D>7D4<<4<< GG55=OE 4<EF<??<=, ?D>D5EE<>=4?L=OE <>4G?5=, 

?D4>F<>; D45>G<<< ?D>7D4<<4<< 6>E?<F4=<O, 4 F4>65 <5F>4<G5E><<< 4>>G<5=F4<<, 

>55E?5G<64NM<<< D54?<74F<N E>>F65FEF6GNM<E >5D47>64F5?L=OE F5E=>?>7<=. 

 

6.1 'G55=O= ??4=. 
� GG55=>< ??4=5 ?D<6>4<FEO ?5D5G5=L GG55=OE 4<EF<??<=, ?D>D5EE<>=4?L=OE 

<>4G?5= (��), <564<EF<??<=4D=OE >GDE>6 (���), ?D4>F<>, 4FF5EF4F<>==OE <E?OF4=<=, 

7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< >5GG4NM<EEO, 4DG7<E 6<4>6 GG55=>= 45OF5?L=>EF< E 

G>474=<5< <E >5N5<4, ?>E?54>64F5?L=>EF< < D4E?D545?5=<O ?> ?5D<>44< >5GG5=<O. �?O 

>464>= 4<EF<??<=O, ��, ��� < ?D4>F<>< G>47O645FEO D>D<4 ?D><56GF>G=>= 4FF5EF4F<< 

>5GG4NM<EEO (M>74<5=, 74G5F (4<DD5D5=F<D>64==O= 74G5F)). 

�464O= GG55=O= F<>? <<55F >5O74F5?L=GN G4EFL < 64D<4F<6=GN G4EFL, 

GEF4=46?<645<GN 'D&�%� %<5�'&�. 

'G55=4O 45OF5?L=>EFL >5GG4NM<EEO ?D54GE<4FD<645F GG55=O5 74=OF<O (GD>>, ?5>F<O, 

?45>D4F>D=4O D45>F4, ?D4>F<G5E>>5 74=OF<5, E5<<=4DE>>5 74=OF<5), E4<>EF>OF5?L=GN D45>FG, 

6O?>?=5=<5 >GDE>6>7> ?D>5>F4 (D45>FO), ?D4>F<>G, 4 F4>65 4DG7<5 6<4O GG55=>= 

45OF5?L=>EF<, >?D545?5==O5 GG55=O< ??4=><. 

 

6.2 �4?5=44D=O= GG55=O= 7D4D<>. 
�4?5=44D=O= GG55=O= 7D4D<> GEF4=46?<645F ?>E?54>64F5?L=>EFL < ?D>4>?6<F5?L=>EFL 

F5>D5F<G5E>>7> >5GG5=<O, M>74<5=4F<>==OE E5EE<=, ?D4>F<>, 7>EG44DEF65==>= <F>7>6>= 

4FF5EF4F<<, >4=<>G?. �D4D<> D47D454FO645FEO 6 E>>F65FEF6<< E FD55>64=<O<< $��% 

%��. 

 

6.3 $45>G<5 ?D>7D4<<O, 6>?NG4O 4==>F4F<<, GG55=OE 4<EF<??<= (?D>D5EE<>-
=4?L=OE <>4G?5=). 

$45>G4O ?D>7D4<<4 GG55=>= 4<EF<??<=O (?D>D5EE<>=4?L=>7> <>4G?O) 6>?NG45F: 

- =4<<5=>64=<5 4<EF<??<=O (<>4G?O); 

- <5EF> 4<EF<??<=O (<>4G?O) 6 EFDG>FGD5 >5D47>64F5?L=>= ?D>7D4<<O; 
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- ?5D5G5=L ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=5 (<>4G?N), E>>F=5E5==OE 

E ??4=<DG5<O<< D57G?LF4F4<< >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O; 

- >5N5< 4<EF<??<=O (<>4G?O) E G>474=<5< >>?<G5EF64 4>445<<G5E><E G4E>6, 

6O45?5==OE =4 >>=F4>F=GN D45>FG >5GG4NM<EEO E ?D5?>4464F5?5< (?> 6<44< GG55=OE 

74=OF<=) < =4 E4<>EF>OF5?L=GN D45>FG >5GG4NM<EEO; 

- E>45D64=<5 4<EF<??<=O (<>4G?O), EFDG>FGD<D>64==>5 ?> F5<4< (D4745?4<) E 

G>474=<5< >F6545==>7> =4 =<E >>?<G5EF64 4>445<<G5E><E G4E>6 < 6<4>6 GG55=OE 74=OF<=; 

- GE?>6<O D54?<74F<< GG55=>= 4<EF<??<=O (<>4G?O); 

- >>=FD>?L < >F5=>G D57G?LF4F>6 >E6>5=<O GG55=>= 4<EF<??<=O (<>4G?O); 

- <=O5 E6545=<O < (<?<) <4F5D<4?O. 

�==>F4F<O ?D54EF46?O5F E>5>= >D4F>>5 E>45D64=<5 4<EF<??<=O (<>4G?O) 6 D4<>4E F5<, 

G>474==OE 6 D45>G5= ?D>7D4<<5, 4 F4>65 F5?<, 7444G< < D57G?LF4FO <7GG5=<O 4<EF<??<=O 

(<>4G?O). 

 

6.4 $45>G<5 ?D>7D4<<O ?D4>F<>, 6>?NG4O 4==>F4F<<. 
�5D47>64F5?L=4O 45OF5?L=>EFL 'D&�%� %<5�'&� ?D< >E6>5=<< >5D47>64F5?L=OE 

?D>7D4<< <?< >F45?L=OE 55 >><?>=5=F>6 >D74=<7G5FEO 6 D>D<5 ?D4>F<G5E>>= ?>47>F>6><. 

�D4>F<>4 O6?O5FEO >5O74F5?L=O< D4745?>< >5D47>64F5?L=>= ?D>7D4<<O. �=4 

?D54EF46?O5F E>5>= 6<4 GG55=>= 45OF5?L=>EF<, =4?D46?5==>= =4 D>D<<D>64=<5, 74>D5??5=<5, 

D476<F<5 ?D4>F<G5E><E =46O>>6 < >><?5F5=F<= 6 ?D>F5EE5 6O?>?=5=<O >?D545?5==OE 6<4>6 

D45>F, E6O74==OE E 5G4GM5= ?D>D5EE<>=4?L=>= 45OF5?L=>EFLN. 

�D< D54?<74F<< >5D47>64F5?L=>= ?D>7D4<<O ?D54GE<4FD<64NFEO E?54GNM<5 6<4O 

?D4>F<>: GG55=4O, ?D><76>4EF65==4O < ?D544<??><=4O. 

'G55=4O < ?D><76>4EF65==4O ?D4>F<>< ?D>6>4OFEO ?D< >E6>5=<< >5GG4NM<<<EO 

?D>D5EE<>=4?L=OE >><?5F5=F<= 6 D4<>4E ?D>D5EE<>=4?L=OE <>4G?5= < D54?<7GNFEO 6 

=5E>>?L>> ?5D<>4>6. 

'4EFL ?D>D5EE<>=4?L=>7> F<>?4 >5D47>64F5?L=>= ?D>7D4<<O, 6O45?O5<>7> =4 

?D>6545=<5 ?D4>F<>, >?D545?5=4 'D&�%� %<5�'&� 6 >5N5<5 =5 <5=55 25 ?D>F5=F>6 >F 

?D>D5EE<>=4?L=>7> F<>?4 >5D47>64F5?L=>= ?D>7D4<<O. 

$45>G<5 ?D>7D4<<O ?D4>F<> < 4==>F4F<< > =<< 6>?NG4NF 6 E55O: 

- 6<4O ?D4>F<><, E?>E>5O < D>D<O 55 ?D>6545=<O; 

- <5EF> ?D4>F<>< 6 EFDG>FGD5 >5D47>64F5?L=>= ?D>7D4<<O; 

- ?5D5G5=L ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?D< ?D>E>645=<< ?D4>F<><, 

E>>F=5E5==OE E ??4=<DG5<O<< D57G?LF4F4<< >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O; 

- >5N5< ?D4>F<>< < 55 ?D>4>?6<F5?L=>EFL 6 =545?OE; 

- E>45D64=<5 ?D4>F<><; 

- D>D<4 >FG5F=>EF< ?> ?D4>F<>5; 

- >?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O, =5>5E>4<<>= 4?O ?D>6545=<O ?D4>F<><; 

- <=O5 E6545=<O < (<?<) <4F5D<4?O. 

 

6.5 $45>G4O ?D>7D4<<4 6>E?<F4=<O. 
�5>FN5<?5<>= G4EFLN >5D47>64F5?L=>= ?D>7D4<<O O6?O5FEO D45>G4O ?D>7D4<<4 

6>E?<F4=<O. 

&5?L D45>G5= ?D>7D4<<O 6>E?<F4=<O - ?<G=>EF=>5 D476<F<5 >5GG4NM<EEO < <E 

E>F<4?<74F<O, ?D>O6?ONM<5EO 6 D476<F<< <E ?>7<F<6=OE >F=>L5=<= > >5M5EF65==O< 

F5==>EFO<, ?D<>5D5F5=<< >?OF4 ?>6545=<O < ?D<<5=5=<O ED>D<<D>64==OE >5M<E 

>><?5F5=F<= E?5F<4?<EF>6 ED54=57> 765=4 =4 ?D4>F<>5. 

�444G< D45>G5= ?D>7D4<<O 6>E?<F4=<O: 

- D>D<<D>64=<5 54<=>7> 6>E?<F4F5?L=>7> ?D>EFD4=EF64, E>744NM57> D46=O5 GE?>6<O 

4?O D476<F<O >5GG4NM<EEO ?D>D5EE<>=4?L=>= >5D47>64F5?L=>= >D74=<74F<<; 
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- >D74=<74F<O 6E5E 6<4>6 45OF5?L=>EF<, 6>6?5>4NM5= >5GG4NM<EEO 6 >5M5EF65==>-

F5==>EF=O5 E>F<4?<7<DGNM<5 >F=>L5=<O; 

- D>D<<D>64=<5 G >5GG4NM<EEO ?D>D5EE<>=4?L=>= >5D47>64F5?L=>= >D74=<74F<< 

>5M<E F5==>EF5=, <>D4?L=OE < =D46EF65==OE >D<5=F<D>6, =5>5E>4<<OE 4?O GEF>=G<6>7> 

D476<F<O 7>EG44DEF64; 

- GE<?5=<5 6>E?<F4F5?L=>7> 6>745=EF6<O 5?47>44DO =5?D5DO6=>EF< ?D>F5EE4 

6>E?<F4=<O. 

$45>G4O ?D>7D4<<4 6>E?<F4=<O 6>?NG45F 6 E55O: 

- F5?< < 7444G< 6>E?<F4=<O; 

- ?<G=>EF=O5 D57G?LF4FO D54?<74F<< ?D>7D4<<O 6>E?<F4=<O; 

- >F5=>G 4>EF<65=<O >5GG4NM<<<EO ?<G=>EF=OE D57G?LF4F>6; 

- >><??5>E >D<F5D<56 >F5=>< ?<G=>EF=OE D57G?LF4F>6 >5GG4NM<EEO; 

- FD55>64=<O > D5EGDE=><G >55E?5G5=<N 6>E?<F4F5?L=>= D45>FO; 

- >4?5=44D=O= ??4= 6>E?<F4F5?L=>= D45>FO. 

 

$����� 7 '%����/ $������&�� 
��$�����&��,��� �$��$���/ 

 

7.1 �4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 >5D47>64F5?L=>= ?D>7D4<<O. 
�?O ?D>6545=<O GG55=OE 74=OF<= 6E5E 6<4>6, ?D54GE<>FD5==OE >5D47>64F5?L=>= 

?D>7D4<<>=, 6 F>< G<E?5 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < 

?D><56GF>G=>= 4FF5EF4F<<, 4 F4>65 E4<>EF>OF5?L=>= D45>FO, 'D&�%� %<5�'&� 

D4E?>?4745F <4F5D<4?L=>-F5E=<G5E>>= 547>=, E>>F65FEF6GNM5= 45=EF6GNM<< E4=<F4D=O< < 

?D>F<6>?>64D=O< ?D46<?4< < =>D<4<. 

�5D47>64F5?L=O= ?D>F5EE >EGM5EF6?O5FEO 6 GG55=>< < ?45>D4F>D=>< >>D?GE4E. � 

E>EF465 <E?>?L7G5<OE ??>M445= ?D54GE<>FD5=O E?5F<4?L=O5 ?><5M5=<O: >45<=5FO, 

?45>D4F>D<<, 4G4<F>D<< 4?O E4<>EF>OF5?L=>= D45>FO, >E=4M5==O5 >5>DG4>64=<5<, 

F5E=<G5E><<< ED54EF64<< >5GG5=<O < <4F5D<4?4<<, GG<FO64NM<<< FD55>64=<O 

<564G=4D>4=OE EF4=44DF>6. 

 

�5D5G5=L E?5F<4?L=OE ?><5M5=<=: 

�45<=5FO: 

- 7G<4=<F4D=OE < E>F<4?L=>-M>>=><<G5E><E 4<EF<??<=; 

- <=>EFD4==>7> O7O>4; 

- <4F5<4F<G5E><E 4<EF<??<=; 

- <=D>D<4F<><; 

- 557>?4E=>EF< 6<7=545OF5?L=>EF< < >ED4=O FDG44; 

- <5FD>?>7<< < EF4=44DF<74F<<; 

- M>>=><<>< < <5=546<5=F4; 

- E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO. 

 

�45>D4F>D<<: 

- 6OG<E?<F5?L=>= F5E=<><, 4DE<F5>FGDO ?5DE>=4?L=>7> >><?LNF5D4 < ?5D<D5D<=-

=OE GEFD>=EF6; 

- ?D>7D4<<=>7> >55E?5G5=<O < E>?D>6>645=<O >><?LNF5D=OE E<EF5<; 

- ?D>7D4<<<D>64=<O < 547 44==OE. 

 

%?>DF<6=O= >><??5>E: 

- E?>DF<6=O= 74?; 

- 74? =4EF>?L=>7> F5==<E4; 

- L4E<4F=O= >?G5; 
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- FD5=465D=O= 74?; 

- EFD5?>>6O= F<D. 

 

�4?O: 

- 5<5?<>F5>4; 

- G<F4?L=O= 74? E 6OE>4>< 6 E5FL �=F5D=5F; 

- 4>F>6O= 74?. 

 

'G55=O5 ?45>D4F>D<<, >45<=5FO, 4 F4>65 ?><5M5=<O 4?O E4<>EF>OF5?L=>= D45>FO 

>5GG4NM<EEO >E=4M5=O >><?LNF5D=>= F5E=<>>= E 6>7<>6=>EFLN ?>4>?NG5=<O > 

<=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< "�=F5D=5F" < >55E?5G5=<5< 4>EFG?4 6 

M?5>FD>==GN <=D>D<4F<>==>->5D47>64F5?L=GN ED54G 'D&�%� %<5�'&�. 

�464O= >5GG4NM<=EO 6 F5G5=<5 6E57> ?5D<>44 >5GG5=<O >55E?5G5= <=4<6<4G4?L=O< 

=5>7D4=<G5==O< 4>EFG?>< > M?5>FD>==>= <=D>D<4F<>==>->5D47>64F5?L=>= ED545 'D&�%� 

%<5�'&� (https://aup.uisi.ru/) <7 ?N5>= F>G><, 6 >>F>D>= <<55FEO 4>EFG? > <=D>D<4F<>==>-

F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», >4> =4 F5DD<F>D<< 'D&�%� %<5�'&�, F4> < 6=5 

55. 

 

'D&�%� %<5�'&� >55E?5G5= =5>5E>4<<O< >><??5>F>< ?<F5=7<>==>7> < E6>5>4=> 

D4E?D>EFD4=O5<>7> ?D>7D4<<=>7> >55E?5G5=<O, 6 F>< G<E?5 >F5G5EF65==>7> ?D><76>4EF64, 

E>EF46 >>F>D>7> >?D545?5= 6 D45>G<E ?D>7D4<<4E GG55=OE 4<EF<??<= < ?D>D5EE<>=4?L=OE 

<>4G?5=. 

 

$54?<74F<O >5D47>64F5?L=>= ?D>7D4<<O ?D54?>?4745F >5O74F5?L=GN GG55=GN < 

?D><76>4EF65==GN ?D4>F<>G. 

'G55=4O ?D4>F<>4 D54?<7G5FEO 6 ?45>D4F>D<OE 'D&�%� %<5�'&� < FD55G5F =4?<G<O 

>5>DG4>64=<O, <=EFDG<5=F>6, D4EE>4=OE <4F5D<4?>6, >55E?5G<64NM<E 6O?>?=5=<5 6E5E 

6<4>6 D45>F, >?D545?5==OE E>45D64=<5< ?D>7D4<< ?D>D5EE<>=4?L=OE <>4G?5= 6 

E>>F65FEF6<< E 6O5D4==>= FD45>F>D<5=, 6 F>< G<E?5 >5>DG4>64=<O < <=EFDG<5=F>6, 

<E?>?L7G5<OE ?D< ?D>6545=<< G5<?<>=4F>6 WorldSkills < G>474==OE 6 <=DD4EFDG>FGD=OE 

?<EF4E >>=>GDE=>= 4>>G<5=F4F<< WorldSkills ?> >><?5F5=F<< «�D>7D4<<=O5 D5L5=<O 4?O 

5<7=5E4» (<?< <E 4=4?>7>6). 

�5>DG4>64=<5 ?D54?D<OF<= < F5E=>?>7<G5E>>5 >E=4M5=<5 D45>G<E <5EF 

?D><76>4EF65==>= ?D4>F<>< 4>?6=> E>>F65FEF6>64FL E>45D64=<N 45OF5?L=>EF< < 4464FL 

6>7<>6=>EFL >5GG4NM5<GEO >6?445FL ?D>D5EE<>=4?L=O<< >><?5F5=F<O<< ?> 6E5< 

>E64<645<O< 6<44< 45OF5?L=>EF<, ?D54GE<>FD5==O< ?D>7D4<<>= E <E?>?L7>64=<5< 

E>6D5<5==OE F5E=>?>7<=, <4F5D<4?>6 < >5>DG4>64=<O. 

 

7.2 'G55=>-<5F>4<G5E>>5 >55E?5G5=<5 >5D47>64F5?L=>= ?D>7D4<<O. 
�<5?<>F5G=O= D>=4 'D&�%� %<5�'&� G>><??5>F>64= ?5G4F=O<< <744=<O<< < (<?<) 

M?5>FD>==O<< <744=<O<< ?> >464>= 4<EF<??<=5, <>4G?N <7 D4EG5F4 >4=> ?5G4F=>5 <744=<5 

< (<?<) M?5>FD>==>5 <744=<5 ?> >464>= 4<EF<??<=5, <>4G?N =4 >4=>7> >5GG4NM57>EO. 

�<5?<>F5G=O= D>=4 G>><??5>F>64= ?5G4F=O<< <744=<O<< < (<?<) M?5>FD>==O<< 

<744=<O<< >E=>6=>= < 4>?>?=<F5?L=>= GG55=>= ?<F5D4FGDO, 6OL54L<<< 74 ?>E?54=<5 

5 ?5F. 

$54?<74F<O >5D47>64F5?L=>= ?D>7D4<<O >55E?5G5=4 4>EFG?>< >464>7> >5GG4NM57>EO > 

5474< 44==OE < 5<5?<>F5G=O< D>=44<, D>D<<DG5<O< ?> ?>?=><G ?5D5G=N GG55=OE 

4<EF<??<= < ?D>D5EE<>=4?L=OE <>4G?5=: > M?5>FD>==>-5<5?<>F5G=O< E<EF5<4< Ibooks, 

IPRbooks, ?>?=>F5>EF>6>= 5475 44==OE GG55=OE < <5F>4<G5E><E ?>E>5<= 5<5?<>F5G=>= 

E<EF5<O %<5�'&� (7. �>6>E<5<DE>), ?>?=>F5>EF>6>= 5475 44==OE ��'&� (7. %4<4D4). 
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�?O >5GG4NM<EEO >55E?5G5= 4>EFG? > <=D>D<4F<>==>= E?D46>G=>= < ?><E>>6>= 

E<EF5<5 «�>=EG?LF4=F �?NE», ?D>D5EE<>=4?L=>= ?><E>>6>= E<EF5<5 e-library. 

 

'D&�%� %<5�'&� ?D< =5>5E>4<<>EF< ?D54GE<>FD5=> >55E?5G5=<5 >5GG4NM<EEO 

<=64?<4>6 < ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?5G4F=O<< < (<?<) 

M?5>FD>==O<< >5D47>64F5?L=O<< D5EGDE4<<, 444?F<D>64==O<< > >7D4=<G5=<O< <E 74>D>6LO. 

 

�5D47>64F5?L=4O ?D>7D4<<4 >55E?5G5=4 GG55=>-<5F>4<G5E>>= 4>>G<5=F4F<5= ?> 6E5< 

GG55=O< 4<EF<??<=4< < ?D>D5EE<>=4?L=O< <>4G?O<. 

$47D45>F4=O GG55=>-<5F>4<G5E><5 >><??5>EO, 6>?NG4NM<5 D45>G<5 ?D>7D4<<O 

4<EF<??<= (<>4G?5=), <5F>4<G5E><5 G>474=<O ?> 6O?>?=5=<N ?D4>F<G5E><E < E5<<=4DE><E 

74=OF<=, ?45>D4F>D=OE D45>F, >GDE>6OE D45>F (?D>5>F>6), 4 F4>65 D>=4O >F5=>G=OE 

ED54EF6. 

%>45D64=<5 GG55=OE 4<EF<??<= (<>4G?5=) 6 6<45 4==>F4F<< ?D54EF46?5=> 6 E5F< 

�=F5D=5F < ?>>4?L=>= E5F< �=EF<FGF4. 

 

7.3 �D74=<74F<O 6>E?<F4=<O >5GG4NM<EEO. 
�>E?<F4F5?L=4O D45>F4 6 'D&�%� %<5�'&� ?D54EF46?O5F E>5>= F5?>EF=O= >><??5>E 

6>E?<F4F5?L=OE F5?5= < 7444G, >44D>6OE D5EGDE>6, <E D54?<7GNM<E 6 ?D>F5EE5 

F5?5=4?D46?5==>= 45OF5?L=>EF<, < >F=>L5=<=, 6>7=<>4NM<E <564G GG4EF=<>4<< 

6>E?<F4F5?L=>7> ?D>F5EE4. 

�?O D54?<74F<< D45>G5= ?D>7D4<<O 6>E?<F4=<O >?D545?5=O E?54GNM<5 D>D<O 

6>E?<F4F5?L=>= D45>FO E >5GG4NM<<<EO: 

- <=D>D<4F<>==>-?D>E65F<F5?LE><5 74=OF<O (?5>F<<, 6EFD5G<, E>65M4=<O, E>5D4=<O < 

F.4.); 

- <4EE>6O5 < E>F<>>G?LFGD=O5 <5D>?D<OF<O; 

- E?>DF<6=>-<4EE>6O5 < >74>D>6<F5?L=O5 <5D>?D<OF<O; 

- 45OF5?L=>EFL F6>DG5E><E >5N54<=5=<=, EFG45=G5E><E >D74=<74F<=; 

- ?E<E>?>7>-?5447>7<G5E><5 FD5=<=7< < <=4<6<4G4?L=O5 >>=EG?LF4F<<; 

- =4GG=>-?D4>F<G5E><5 <5D>?D<OF<O (>>=D5D5=F<<, D>DG<O, >?<<?<44O, G5<?<>=4FO < 

4D.); 

- ?D>D>D<5=F4F<>==O5 <5D>?D<OF<O (>>=>GDEO, D5EF<64?<, <4EF5D->?4EEO, >65EFO, 

M>E>GDE<< < 4D.); 

- >?D>EO, 4=>5F<D>64=<5, E>F<>?>7<G5E><5 <EE?54>64=<O ED54< >5GG4NM<EEO. 

�O5>D D>D< >D74=<74F<< 6>E?<F4F5?L=>= D45>FO >E=>6O645FEO =4 4=4?<75 

MDD5>F<6=>EF< < ?D4>F<G5E>>< >?OF5, E GG5F>< <<5NM<EEO <4F5D<4?L=>-F5E=<G5E><E < 

>44D>6OE D5EGDE>6. 

'D&�%� %<5�'&� D4E?>?4745F 6E5= =5>5E>4<<>= <4F5D<4?L=>-F5E=<G5E>>= 547>=, 

>55E?5G<64NM5= ?D>6545=<5 6>E?<F4F5?L=OE <5D>?D<OF<=, 6 F>< G<E?5 E ?D<<5=5=<5< 

4<EF4=F<>==OE >5D47>64F5?L=OE F5E=>?>7<=, ?D< MF>< >55E?5G<645FEO E6>5>4=O= 4>EFG? 

>464>7> >5GG4NM57>EO > M?5>FD>==>= <=D>D<4F<>==>->5D47>64F5?L=>= ED545 'D&�%� 

%<5�'&� < > M?5>FD>==O< D5EGDE4<. 

�=D>D<4F<>==>5 >55E?5G5=<5 6>E?<F4F5?L=>= D45>FO <<55F 6 E6>5= <=DD4EFDG>FGD5 

>5N5>FO, >55E?5G5==O5 ED54EF64<< E6O7<, >><?LNF5D=>= < <G?LF<<54<==>= F5E=<>>=,  

<=F5D=5F-D5EGDE4<< < E?5F<4?<7<D>64==O< >5>DG4>64=<5<. 

�E=>6=O< GE?>6<5< D54?<74F<< 6>E?<F4=<O >5GG4NM<EEO O6?O5FEO E>5?N45=<5 

557>?4E=>EF<, 6O?>?=5=<5 ?D>F<6>?>64D=OE ?D46<?, E4=<F4D=OE =>D< < FD55>64=<=. 

$G>>6>4EF6> < >>=FD>?L 74 D54?<74F<5= 6>E?<F4F5?L=>= D45>FO >EGM5EF6?ONF 

>64?<D<F<D>64==O5 E?5F<4?<EFO. $G=>F<>=4? D45>F=<>>6 D57?4<5=F<DG5FEO FD55>64=<O<< 

?D>D5EE<>=4?L=OE EF4=44DF>6. 
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$54?<74F<O 6>E?<F4F5?L=>= D45>FO ?D54?>?4745F >><??5>E=>5 674<<>45=EF6<5 

?5447>7<G5E><E, DG>>6>4OM<E < <=OE D45>F=<>>6 'D&�%� %<5�'&�, >5GG4NM<EEO < 

D>4<F5?5= (74>>==OE ?D54EF46<F5?5=) =5E>65DL5==>?5F=<E >5GG4NM<EEO. 

$5EGDE=>5 >55E?5G5=<5 6>E?<F4F5?L=>= D45>FO 6 'D&�%� %<5�'&� =4?D46?5=> =4 

E>744=<5 GE?>6<= 4?O >EGM5EF6?5=<O 6>E?<F4F5?L=>= 45OF5?L=>EF< >5GG4NM<EEO, 6 F>< 

G<E?5 <=64?<4>6 < ?<F E ���, 6 >>=F5>EF5 D54?<74F<< >5D47>64F5?L=>= ?D>7D4<<O. 

 

7.4 �44D>6O5 GE?>6<O D54?<74F<< >5D47>64F5?L=>= ?D>7D4<<O. 
$54?<74F<O >5D47>64F5?L=>= ?D>7D4<<O >55E?5G<645FEO ?5447>7<G5E><<< D45>F=<>4<< 

'D&�%� %<5�'&�, 4 F4>65 ?<F4<<, ?D<6?5>45<O<< > D54?<74F<< >5D47>64F5?L=>= 

?D>7D4<<O =4 GE?>6<OE 7D4644=E>>-?D46>6>7> 4>7>6>D4, 6 F>< G<E?5 <7 G<E?4 DG>>6>4<F5?5= 

< D45>F=<>>6 >D74=<74F<=, =4?D46?5=<5 45OF5?L=>EF< >>F>DOE E>>F65FEF6G5F >5?4EF< 

?D>D5EE<>=4?L=>= 45OF5?L=>EF< 06 %6O7L, <=D>D<4F<>==O5 < >><<G=<>4F<>==O5 

F5E=>?>7<<, < <<5NM<E EF46 D45>FO 6 44==>= ?D>D5EE<>=4?L=>= >5?4EF< =5 <5=55 3 ?5F. 

�64?<D<>4F<O ?5447>7<G5E><E D45>F=<>>6 'D&�%� %<5�'&� >F65G45F 

>64?<D<>4F<>==O< FD55>64=<O<, G>474==O< 6 ?D>D5EE<>=4?L=>< EF4=44DF5 «�5447>7 

?D>D5EE<>=4?L=>7> >5GG5=<O, ?D>D5EE<>=4?L=>7> >5D47>64=<O < 4>?>?=<F5?L=>7> 

?D>D5EE<>=4?L=>7> >5D47>64=<O», GF65D645==>< ?D<>47>< �<=<EF5DEF64 FDG44 < 

E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 8 E5=FO5DO 2015 7. 7 608=. 

�5447>7<G5E><5 D45>F=<><, ?D<6?5>45<O5 > D54?<74F<< >5D47>64F5?L=>= ?D>7D4<<O, 

?>?GG4NF 4>?>?=<F5?L=>5 ?D>D5EE<>=4?L=>5 >5D47>64=<5 ?> ?D>7D4<<4< ?>6OL5=<O 

>64?<D<>4F<<, 6 F>< G<E?5 6 D>D<5 EF46<D>6>< 6 >D74=<74F<OE, =4?D46?5=<5 45OF5?L=>EF< 

>>F>DOE E>>F65FEF6G5F >5?4EF< ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 06 %6O7L, <=D>D<4F<>==O5 

< >><<G=<>4F<>==O5 F5E=>?>7<<, =5 D565 1 D474 6 3 7>44 E GG5F>< D4EL<D5=<O E?5>FD4 

?D>D5EE<>=4?L=OE >><?5F5=F<=. 

�>?O ?5447>7<G5E><E D45>F=<>>6 (6 ?D<6545==OE > F5?>G<E?5==O< 7=4G5=<O< EF46>>), 

>55E?5G<64NM<E >E6>5=<5 >5GG4NM<<<EO ?D>D5EE<>=4?L=OE <>4G?5=, <<5NM<E >?OF 

45OF5?L=>EF< =5 <5=55 3 ?5F 6 >D74=<74F<OE, =4?D46?5=<5 45OF5?L=>EF< >>F>DOE 

E>>F65FEF6G5F >5?4EF< ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 06 %6O7L, <=D>D<4F<>==O5 < 

>><<G=<>4F<>==O5 F5E=>?>7<<, 6 >5M5< G<E?5 ?5447>7<G5E><E D45>F=<>>6 'D&�%� 

%<5�'&�, D54?<7GNM<E >5D47>64F5?L=GN ?D>7D4<<G, E>EF46?O5F =5 <5=55 25 ?D>F5=F>6. 

 

7.5 $<=4=E>6O5 GE?>6<O D54?<74F<< >5D47>64F5?L=>= ?D>7D4<<O. 
�D<<5D=O5 D4EG5FO =>D<4F<6=OE 74FD4F >>474=<O 7>EG44DEF65==OE GE?G7 ?> 

D54?<74F<< >5D47>64F5?L=>= ?D>7D4<<O. 

$4EG5FO =>D<4F<6=OE 74FD4F >>474=<O 7>EG44DEF65==OE GE?G7 ?> D54?<74F<< 

>5D47>64F5?L=>= ?D>7D4<<O >EGM5EF6?O5FEO 6 E>>F65FEF6<< E �5F>4<>>= >?D545?5=<O 

=>D<4F<6=OE 74FD4F =4 >>474=<5 7>EG44DEF65==OE GE?G7 ?> D54?<74F<< >5D47>64F5?L=OE 

?D>7D4<< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O ?> ?D>D5EE<O< (E?5F<4?L=>EFO<) < 

G>DG?=5==O< 7DG??4< ?D>D5EE<= (E?5F<4?L=>EF5=), GF65D645==>= �<=>5D=4G>< $>EE<< 27 

=>O5DO 2015 7. 7 ��-114/186=. 

�>D<4F<6=O5 74FD4FO =4 >>474=<5 7>EG44DEF65==OE GE?G7 6 ED5D5 >5D47>64=<O ?> 

D54?<74F<< >5D47>64F5?L=>= ?D>7D4<<O 6>?NG4NF 6 E55O 74FD4FO =4 >??4FG FDG44 

?D5?>4464F5?5= < <4EF5D>6 ?D><76>4EF65==>7> >5GG5=<O E GG5F>< >55E?5G5=<O GD>6=O 

ED54=5= 74D45>F=>= ??4FO ?5447>7<G5E><E D45>F=<>>6 74 6O?>?=O5<GN <<< GG55=GN 

(?D5?>4464F5?LE>GN) D45>FG < 4DG7GN D45>FG 6 E>>F65FEF6<< E '>47>< �D57<45=F4 

$>EE<=E>>= $545D4F<< >F 7 <4O 2012 7. 7 597 «� <5D>?D<OF<OE ?> D54?<74F<< 

7>EG44DEF65==>= E>F<4?L=>= ?>?<F<><». 

 

�$�������/: 
�D<?>65=<5 1 - 'G55=O= ??4= E >4?5=44D=O< GG55=O< 7D4D<>><. 
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�D<?>65=<5 2 - $45>G<5 ?D>7D4<<O GG55=OE 4<EF<??<=, ?D>D5EE<>=4?L=OE <>4G?5=, 

?D4>F<>. 

�D<?>65=<5 3 - �==>F4F<< > D45>G<< ?D>7D4<<4< GG55=OE 4<EF<??<=, ?D>D5E-

E<>=4?L=OE <>4G?5=, ?D4>F<>. 

�D<?>65=<5 4 - $45>G4O ?D>7D4<<4 6>E?<F4=<O E >4?5=44D=O< ??4=>< 6>E?<F4F5?L=>= 

D45>FO. 

 


